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Αβστραχτ

Ισ φρεε−ριδινγ ιν τεαµσ ρεδυχεδ ωηεν ονε µεµβερ ρεχειϖεσ α σιγναλ ον ηισ

χολλεαγυε�σ περφορµανχε? Ανδ ηοω δοεσ φρεε−ριδινγ δεπενδ ον τηε σιγναλ�σ

τψπε? Ωε αδδρεσσ τηεσε θυεστιονσ ιν εξπεριµενταλ τεαµσ ιν ωηιχη τωο αγεντσ

σεθυεντιαλλψ εξερτ ε⁄ορτ το χοντριβυτε το τηε τεαµ ουτπυτ. Ωε ϖαρψ τηε τψπε

οφ ινφορµατιον τηε σεχονδ µοϖερ ρεχειϖεσ πριορ το ηισ ε⁄ορτ χηοιχε ανδ �νδ

τηατ αγεντσ ωορκ µορε ωηεν σιγναλσ αρε αϖαιλαβλε. Οϖεραλλ, βεηαϖιορ δι⁄ερσ

φροµ πρεδιχτιονσ οφ στανδαρδ τηεορψ. Σιγναλσ τηατ αρε πρεδιχτεδ το ηαϖε νο

ε⁄εχτ αρε, ιν φαχτ, ιν�υεντιαλ ανδ σιγναλσ τηατ αρε πρεδιχτεδ το ηαϖε αν ε⁄εχτ

αρε ρεδυνδαντ.
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1 Ιντροδυχτιον

Τεαµ µεµβερσ οφτεν ωορκ ινε′χιεντλψ λιττλε ασ τηειρ ρεωαρδσ αρε ρελατεδ το τηε τεαµ

ουτπυτ βυτ τηε χοστσ οφ χοντριβυτινγ το τηε τεαµ ουτπυτ αχχρυε το τηε ινδιϖιδυαλ

µεµβερ ονλψ. Ιν τηισ παπερ ωε αδδρεσσ τηε θυεστιον ωηετηερ τεαµ µεµβερσ αρε

στιµυλατεδ το ωορκ µορε ωηεν ονε µεµβερ ρεχειϖεσ α σιγναλ ον ηισ χολλεαγυε�σ περ−

φορµανχε πριορ το ηισ ε⁄ορτ χηοιχε. Φυρτηερµορε, ωε αναλψζε ηοω τηε σιγναλ�σ τψπε

α⁄εχτσ βεηαϖιορ.

Ιν µανψ σιτυατιονσ αγεντσ οφ α τεαµ αχτ σεθυεντιαλλψ ανδ τηε σεχονδ µοϖερ οβ−

σερϖεσ σοµε σιγναλ ον τηε �ρστ µοϖερ�σ περφορµανχε. Τηε σιγναλ µαψ α⁄εχτ τηε

σεχονδ µοϖερ�σ ινχεντιϖεσ. Χονσιδερ, φορ εξαµπλε, τηε χασε ωηερε ινδιϖιδυαλ χοντρι−

βυτιονσ το τηε τεαµ ουτπυτ αρε συβστιτυτεσ (ι.ε. τηε µορε ονε αγεντ χοντριβυτεσ, τηε

λοωερ αρε τηε ινχεντιϖεσ φορ τηε οτηερ αγεντ το ωορκ ηαρδ) ανδ τηε σεχονδ µοϖερ χαν

περφεχτλψ οβσερϖε τηε �ρστ µοϖερ�σ χοντριβυτιον. Ιφ αλλ αγεντσ αρε σελφ−ιντερεστεδ, ιτ ισ

οπτιµαλ φορ τηε �ρστ µοϖερ το ωορκ λιττλε ιν ορδερ το ινδυχε τηε σεχονδ µοϖερ το ωορκ

ηαρδ. Ηοωεϖερ, ιφ αγεντσ αρε χονχερνεδ αβουτ φαιρνεσσ ορ ρεχιπροχιτψ, τηε �ρστ µοϖερ

µαψ φαχε ινχεντιϖεσ το ωορκ ηαρδ ιν ορδερ το ινδυχε ηισ φελλοω ωορκερ το ωορκ ηαρδ

ασ ωελλ. Φυρτηερµορε, τηε σιγναλ�σ τψπε µαψ πλαψ αν ιµπορταντ ρολε: Τηε σεχονδ

µοϖερ µαψ οβσερϖε ηοω ηαρδ τηε �ρστ µοϖερ ωορκεδ φορ τηε τεαµ προϕεχτ ορ ηοω

µυχη ϖαλυε ηε αδδεδ το τηε τεαµ ουτπυτ. Τακε, φορ εξαµπλε, τηε δεϖελοπµεντ οφ α

νεω προδυχτ χονσιστινγ οφ α δεσιγν ανδ α χονστρυχτιον πηασε. Τηε χονστρυχτορ µαψ

οβσερϖε τηε ε⁄ορτ τηε δεσιγνερ δεϖοτεδ το δεσιγνινγ τηε προδυχτ (ε.γ. ιφ τηειρ ο′χεσ

αρε σιτυατεδ χλοσελψ τογετηερ), ορ τηε θυαλιτψ οφ τηε δεσιγν (ε.γ. ρεσυλτσ οφ α χυστοµερ

τεστ σεριεσ), ορ βοτη. Ιφ τηε χονστρυχτορ�σ ανδ τηε δεσιγνερ�σ ωαγεσ δεπενδ ονλψ ον

τηε θυαλιτψ οφ τηε προδυχτ, α σελ�ση χονστρυχτορ φοχυσεσ ον τηε ινφορµατιον ον τηε

θυαλιτψ οφ τηε δεσιγν, ωηερεασ α φαιρ−µινδεδ χονστρυχτορ αλσο τακεσ τηε δεσιγνερ�σ

ε⁄ορτ ιντο αχχουντ. Τηισ ραισεσ τηε θυεστιον ηοω τηε ινφορµατιον στρυχτυρε ιν τεαµσ

α⁄εχτσ βεηαϖιορ.

Ιν ορδερ το πυτ τηισ θυεστιον το α τεστ, ωε χονδυχτ α σεριεσ οφ λαβορατορψ εξπερ−

ιµεντσ ιν ωηιχη τωο τεαµ µεµβερσ ωορκ σεθυεντιαλλψ. Ωε οβσερϖε τηατ ον αϖεραγε

βοτη αγεντσ ωορκ µορε ωηεν τηε σεχονδ µοϖερ ρεχειϖεσ αν ινφορµατιϖε σιγναλ ον

τηε �ρστ µοϖερ�σ περφορµανχε. Εσπεχιαλλψ τηε �ρστ µοϖερ�σ ε⁄ορτ τυρνσ ουτ το βε α

στιµυλατινγ σιγναλ.

Ιν ουρ εξπεριµεντ α τεαµ χονσιστσ οφ τωο αγεντσ ωηο σεθυεντιαλλψ δεχιδε ον τηειρ

ε⁄ορτ το χοντριβυτε το τηε τεαµ ουτπυτ. Πριορ το τηε σεχονδ µοϖερ�σ ε⁄ορτ χηοιχε ηε

οβσερϖεσ α σιγναλ ον τηε �ρστ µοϖερ�σ περφορµανχε. Τηε ηιγηερ αν αγεντ�σ ε⁄ορτ, τηε
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ηιγηερ ισ τηε προβαβιλιτψ τηατ ηισ χοντριβυτιον το τηε τεαµ ουτπυτ ισ ηιγη ρατηερ τηαν

λοω. Αν αγεντ�σ παψο⁄ εθυαλσ ηισ ωαγε µινυσ ηισ ε⁄ορτ χοστσ. Βοτη αγεντσ ρεχειϖε

τηε σαµε ωαγε τηατ ποσιτιϖελψ δεπενδσ ον τηε τεαµ ουτπυτ. Τηε ωαγε σχηεµε ισ

γιϖεν εξογενουσλψ, ε.γ. βψ α πρινχιπαλ ορ α µαρκετ τηατ ισ νοτ µοδελεδ ιν τηε γαµε.

Ασ ωε φοχυσ ον τηε πυρε ινχεντιϖε ε⁄εχτ οφ δι⁄ερεντ ινφορµατιον στρυχτυρεσ, ωε

ϖαρψ τηε σιγναλ αχροσσ τρεατµεντσ, ωηιλε ωε κεεπ εϖερψτηινγ ελσε χονσταντ. Ουρ

τρεατµεντσ αρε δε�νεδ αχχορδινγ το τηε δεγρεε οφ ινφορµατιον τηε σιγναλ προϖιδεσ

αβουτ τηε �ρστ µοϖερ�σ χοντριβυτιον � τηε ονλψ περφορµανχε ϖαριαβλε οφ τηε �ρστ

µοϖερ τηατ ισ διρεχτλψ παψο⁄ ρελεϖαντ φορ τηε σεχονδ µοϖερ. Γιϖεν τηε �ρστ µοϖερ�σ

χοντριβυτιον, τηε σεχονδ µοϖερ�σ παψο⁄ δοεσ νοτ δεπενδ ον τηε �ρστ µοϖερ�σ ε⁄ορτ.

Ιν ουρ βενχηµαρκ τρεατµεντ τηερε ισ νο σιγναλ ατ αλλ, ωηιλε ιν τηε οτηερ τρεατµεντσ

τηε σιγναλ ισ ειτηερ τηε �ρστ µοϖερ�σ ε⁄ορτ (ι.ε. αν ιµπερφεχτ σιγναλ), ορ τηε �ρστ

µοϖερ�σ χοντριβυτιον (ι.ε. α περφεχτ σιγναλ), ορ βοτη. Οβσερϖινγ βοτη δοεσ, ηοωεϖερ,

νοτ προϖιδε µορε ινφορµατιον ον τηε �ρστ µοϖερ�σ χοντριβυτιον τηαν οβσερϖινγ ηισ

χοντριβυτιον ονλψ. Στιλλ, τηε ε⁄ορτ προϖιδεσ αδδιτιοναλ ινφορµατιον αβουτ τηε �ρστ

µοϖερ�σ παψο⁄.

Ωε ιµπλεµεντ α ωαγε σχηεµε συχη τηατ αγεντσ� χοντριβυτιονσ αρε συβστιτυτεσ. Ιν

τηισ χασε στανδαρδ τηεορψ πρεδιχτσ φορ αλλ τρεατµεντσ ωιτη αν ινφορµατιϖε σιγναλ τηατ

τηε σεχονδ µοϖερ�σ ε⁄ορτ ισ νεγατιϖελψ ρελατεδ το τηε σιγναλ1 ανδ τηε �ρστ µοϖερ ωορκσ

λεσσ τηαν ιν τηε βενχηµαρκ τρεατµεντ. Ωε οβσερϖε, ηοωεϖερ, τηατ ον αϖεραγε τηε

�ρστ µοϖερ ωορκσ µορε ωηεν ινφορµατιϖε σιγναλσ αρε αϖαιλαβλε ανδ τηε σεχονδ µοϖερ

ποσιτιϖελψ ρεαχτσ το τηε σιγναλσ. Εϖεν ιφ τηε σεχονδ µοϖερ οβσερϖεσ τηε �ρστ µοϖερ�σ

χοντριβυτιον ανδ ε⁄ορτ, τηε σεχονδ µοϖερ�σ ε⁄ορτ ινχρεασεσ ιν τηε �ρστ µοϖερ�σ ε⁄ορτ.

Τηισ χοντραδιχτσ στανδαρδ τηεορψ σινχε ιν τηισ χασε τηε �ρστ µοϖερ�σ ε⁄ορτ ισ παψο⁄

ιρρελεϖαντ φορ τηε σεχονδ µοϖερ. Οϖεραλλ, βοτη αγεντσ ωορκ µορε ον αϖεραγε ωηεν

ινφορµατιϖε σιγναλσ αρε αϖαιλαβλε.

Ιν αν εξτενσιον ωε τεστ ωηετηερ τηεσε ρεσυλτσ αρε ροβυστ το τηε στρατεγιχ χοντεξτ.

Βψ ϖαρψινγ τηε ωαγε σχηεµε ωε ιµπλεµεντ α σεττινγ ωηερε αγεντσ� χοντριβυτιονσ

αρε χοµπλεµεντσ, ι.ε. τηε µορε ονε αγεντ χοντριβυτεσ το τηε τεαµ ουτπυτ, τηε

ηιγηερ αρε τηε ινχεντιϖεσ φορ τηε οτηερ αγεντ το ωορκ ηαρδ. Ιν τηισ χασε στανδαρδ

τηεορψ πρεδιχτσ φορ αλλ τρεατµεντσ ωιτη αν ινφορµατιϖε σιγναλ τηατ τηε σεχονδ µοϖερ�σ

ε⁄ορτ ισ ποσιτιϖελψ ρελατεδ το τηε σιγναλ ανδ τηε �ρστ µοϖερ ωορκσ µορε τηαν ιν τηε

βενχηµαρκ τρεατµεντ. Σιµιλαρ το βεφορε � βυτ µορε χονσιστεντ ωιτη στανδαρδ τηεορψ

� ωε �νδ τηατ τηε �ρστ µοϖερ ωορκσ µορε ιν τηε πρεσενχε οφ ινφορµατιϖε σιγναλσ ανδ

1Ιφ τηε �ρστ µοϖερ�σ ε⁄ορτ ανδ χοντριβυτιον αρε οβσερϖαβλε, τηε σεχονδ µοϖερ ονλψ ρεαχτσ το τηε

�ρστ µοϖερ�σ χοντριβυτιον.
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τηε σεχονδ µοϖερ�σ ε⁄ορτ ινχρεασεσ ιν τηε �ρστ µοϖερ�σ ε⁄ορτ. Τηε ποσιτιϖε ρελατιον

το τηε �ρστ µοϖερ�σ ε⁄ορτ ισ αγαιν ινχονσιστεντ ωιτη στανδαρδ τηεορψ ωηεν βοτη τηε

�ρστ µοϖερ�σ ε⁄ορτ ανδ χοντριβυτιον αρε οβσερϖαβλε. Ασ φορ συβστιτυτεσ, βοτη αγεντσ

ωορκ µορε ωηεν ινφορµατιϖε σιγναλσ αρε αϖαιλαβλε.

Οϖεραλλ, ουρ ρεσυλτσ ινδιχατε τηατ στανδαρδ τηεορψ φαιλσ το εξπλαιν ηοω τεαµ

µεµβερσ βεηαϖε ωηεν ινφορµατιϖε σιγναλσ αρε αϖαιλαβλε. Α σιµπλε µοδελ οφ ινεθυιτψ

αϖερσιον, ηοωεϖερ, χαν λαργελψ εξπλαιν ουρ ρεσυλτσ. Τακινγ ιντο αχχουντ τηατ αγεντσ

χαρε αβουτ παψο⁄ ινεθυαλιτιεσ, τηε ινφορµατιον ον τηε �ρστ µοϖερ�σ ε⁄ορτ βεχοµεσ

διρεχτλψ ρελεϖαντ φορ τηε σεχονδ µοϖερ�σ υτιλιτψ: Τηε �ρστ µοϖερ�σ ε⁄ορτ δετερµινεσ

τηε �ρστ µοϖερ�σ ε⁄ορτ χοστσ ανδ, τηερεβψ, παψο⁄ ινεθυαλιτιεσ.

Τηε ισσυε οφ τεαµ προδυχτιον ωηεν αγεντσ χαν οβσερϖε σιγναλσ ον α τεαµ µατε�σ

περφορµανχε ηασ βεεν αδδρεσσεδ ιν τηεορετιχαλ παπερσ ρελψινγ ον στανδαρδ πρεφερ−

ενχεσ βψ Γολδφαψν (2006), Ωιντερ (2006α, β), ανδ Λυδωιγ (2008). Τηεψ �νδ µιξεδ

ρεσυλτσ ον ωηετηερ σεθυεντιαλλψ ωορκινγ τεαµσ ουτπερφορµ σιµυλτανεουσλψ ωορκινγ

τεαµσ ιν ωηιχη νο σιγναλσ αρε οβσερϖαβλε. Τηειρ ρεσυλτσ χρυχιαλλψ δεπενδ ον τηε

τεαµ�σ προδυχτιον φυνχτιον ανδ τηε στρατεγιχ νατυρε οφ τηε γαµε. Μορεοϖερ, τηε

τηεορετιχαλ παπερ βψ Ηυχκ ανδ Ρεψ Βιελ (2006) σηοωσ τηατ σεθυεντιαλλψ ωορκινγ

τεαµσ ουτπερφορµ σιµυλτανεουσλψ ωορκινγ τεαµσ ωηεν αγεντσ δισλικε ε⁄ορτ ινεθυαλ−

ιτιεσ βετωεεν τεαµ µατεσ. Τηισ ινδιχατεσ τηατ αλσο σοχιαλ χοµπαρισον ισ χρυχιαλ ιν

τεαµ σεττινγσ ωηερε σιγναλσ αρε αϖαιλαβλε. Ιν ουρ εµπιριχαλ αναλψσισ ωε χαν αδδρεσσ

τηε ρολε οφ τηε στρατεγιχ νατυρε οφ τηε γαµε, δι⁄ερεντ σιγναλσ, ανδ σοχιαλ πρεφερενχεσ.

Σοµε εµπιριχαλ στυδιεσ ινϖεστιγατε τηε ε⁄εχτ οφ σιγναλσ ιν σεττινγσ ωηερε τηε

αγεντσ� παψµεντσ αρε χοµπλετελψ ινδεπενδεντ οφ τηοσε αγεντσ� αχτιονσ ον ωηοµ

τηεψ ρεχειϖε τηε σιγναλ: Φαλκ ανδ Ιχηινο (2006) στυδψ τηε περφορµανχε ιν α ρεαλ−

ε⁄ορτ τασκ ωηεν ινδιϖιδυαλσ ωορκ ειτηερ σεπαρατελψ ορ ιν α σηαρεδ ροοµ. Σαυσγρυβερ

(2009) ινϖεστιγατεσ βεηαϖιορ ιν α πυβλιχ γοοδ εξπεριµεντ ωηεν ινδιϖιδυαλσ ρεχειϖε

ινφορµατιον ον τηε οϖεραλλ χοντριβυτιον οφ ανοτηερ γρουπ οφ ινδιϖιδυαλσ. Βοτη στυδιεσ

�νδ τηατ ινδιϖιδυαλσ ωορκ ορ χοντριβυτε µορε ωηεν σιγναλσ αρε αϖαιλαβλε.

Μοηνεν ετ αλ. (2008), ιν χοντραστ, χονσιδερ σιγναλσ ιν δψναµιχ τεαµσ ωηερε τηε

αγεντσ� παψµεντσ διρεχτλψ δεπενδ ον τηοσε αγεντσ� αχτιονσ ον ωηοµ τηεψ ρεχειϖε τηε

σιγναλ. Νεϖερτηελεσσ, αγεντσ� αχτιονσ ιν τηειρ σεττινγ αρε στρατεγιχαλλψ ινδεπενδεντ

αχχορδινγ το στανδαρδ τηεορψ σινχε αγεντσ ηαϖε α δοµιναντ στρατεγψ. Ηενχε, στανδαρδ

τηεορψ πρεδιχτσ τηατ σιγναλσ ον τηε οτηερ αγεντ�σ αχτιον ηαϖε νο ε⁄εχτ. Τηεψ χονδυχτ

α ρεαλ−ε⁄ορτ εξπεριµεντ ιν ωηιχη τωο αγεντσ ωορκ σιµυλτανεουσλψ ιν τωο χονσεχυτιϖε

σταγεσ. Αφτερ τηε �ρστ σταγε αγεντσ ειτηερ µυτυαλλψ οβσερϖε τηειρ περφορµανχε ορ

οβσερϖε νοτηινγ. Τηεψ �νδ τηατ αγεντσ ωορκ ηαρδερ ιν τηε �ρστ σταγε ανδ αλσο
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αχηιεϖε α βεττερ αγγρεγατε τεαµ περφορµανχε ωηεν ρεχειϖινγ ιντεριµ ινφορµατιον.

Ωηιλε ιν τηειρ στυδψ βοτη αγεντσ σενδ ανδ ρεχειϖε α σιγναλ, ιν ουρ στυδψ ονε αγεντ ισ

τηε σενδερ ανδ τηε οτηερ ονε τηε ρεχειϖερ. Τηερεφορε, φυλλ χοµµιτµεντ οφ τηε σενδερ

ανδ α ρεαχτιον ωιτηουτ στρατεγιχ υνχερταιντψ οφ τηε ρεχειϖερ αρε ονλψ ποσσιβλε ιν ουρ

στυδψ.

Σιµιλαρ το Μοηνεν ετ αλ. (2008), τηε λιτερατυρε ον σεθυεντιαλ χοντριβυτιονσ το

πυβλιχ γοοδσ χονσιδερσ σιγναλσ ωιτηιν γρουπσ. Τηε σιγναλ ιν τηεσε σεττινγσ ισ εθυαλ

το ονε ορ σεϖεραλ πρεδεχεσσορσ� χοντριβυτιονσ. Ιν τηε στανδαρδ (λινεαρ) πυβλιχ γοοδ

γαµε αγεντσ� αχτιονσ αρε αγαιν στρατεγιχαλλψ ινδεπενδεντ. Χονσεθυεντλψ, στανδαρδ

τηεορψ πρεδιχτσ νο δι⁄ερενχε βετωεεν σεθυεντιαλ ανδ σιµυλτανεουσ χοντριβυτιονσ.

Στανδαρδ πυβλιχ γοοδ εξπεριµεντσ �νδ τηατ α σεθυεντιαλ στρυχτυρε αλονε δοεσ νοτ ορ

ονλψ σλιγητλψ ινχρεασε τηε χοντριβυτιονσ το τηε πυβλιχ γοοδ, ε.γ. Γτη ετ αλ. (2007),

Λεϖατι ετ αλ. (2007), Ποττερσ ετ αλ. (2007), Γχητερ ετ αλ. (2008), ανδ Ριϖασ ανδ

Συττερ (2008). Τηεσε στυδιεσ οβσερϖε, ηοωεϖερ, τηατ µανψ ινδιϖιδυαλσ αρε χονδι−

τιοναλ χοοπερατορσ (Φισχηβαχηερ ετ αλ., 2001), ι.ε. τηεψ χοντριβυτε ιφ οτηερσ δο σο βυτ

τηεψ δο νοτ ιφ οτηερσ δο νοτ χοντριβυτε. Ιν χοντραστ το τηε αφορεµεντιονεδ στυδιεσ,

Γχητερ ετ αλ. (2009) ιµπλεµεντ α νον−στανδαρδ πυβλιχ γοοδ εξπεριµεντ ιν ωηιχη

αχτιονσ αρε στρατεγιχ συβστιτυτεσ. Ιν λινε ωιτη τηειρ τηεορετιχαλ πρεδιχτιονσ, σεθυεντιαλ

χοντριβυτιονσ ρεσυλτ ιν λοωερ οϖεραλλ προϖισιον τηαν σιµυλτανεουσ χοντριβυτιονσ. Νεϖ−

ερτηελεσσ, τηερε ισ εϖιδενχε φορ χονδιτιοναλ χοοπερατιον. Ιν χοντραστ το ουρ σετυπ, αν

αγεντ�σ ινϖεστµεντ ισ δετερµινιστιχαλλψ ρελατεδ το ηισ χοντριβυτιον ανδ, ιν αδδιτιον,

τηε σιγναλ�σ τψπε δοεσ νοτ ϖαρψ ιν αλλ τηεσε πυβλιχ γοοδ εξπεριµεντσ.

Ηυχκ ανδ Μλλερ (2000) ϖαρψ τηε νοισινεσσ οφ τηε σιγναλ α σεχονδ µοϖερ ρεχειϖεσ

ον τηε �ρστ µοϖερ�σ αχτιον. Τηειρ εξπεριµενταλ σετυπ χονσιδεραβλψ δι⁄ερσ φροµ α

ϖολυνταρψ χοντριβυτιον γαµε: Ιτσ παψο⁄σ ρεσεµβλε τηοσε οφ α µαρκετ ωιτη θυαντιτψ

χοµπετιτιον ανδ αρε δεσιγνεδ συχη τηατ φαιρνεσσ χονσιδερατιονσ δο νοτ πλαψ α µαϕορ

ρολε. Τηεψ �νδ τηατ βεηαϖιορ χονϖεργεσ το τηε συβγαµε περφεχτ ουτχοµε, ιρρεσπεχτιϖε

οφ τηε σιγναλ�σ νοισε. Ωηιλε τηειρ σιγναλσ δι⁄ερ ιν τηε δεγρεε οφ ινφορµατιον, ουρ

σιγναλσ δι⁄ερ ιν τηε τψπε οφ ινφορµατιον: Τηε �ρστ µοϖερ�σ χοντριβυτιον διρεχτλψ

α⁄εχτσ βοτη αγεντσ� ωαγεσ, τηε �ρστ µοϖερ�σ ε⁄ορτ διρεχτλψ α⁄εχτσ ηισ ε⁄ορτ χοστσ.

Τηε παπερ προχεεδσ ασ φολλοωσ. Ιν Σεχτιον 2 ωε πρεσεντ τηε εξπεριµενταλ δεσιγν

ανδ προχεδυρε, ανδ ιν Σεχτιον 3 τηε βεηαϖιοραλ πρεδιχτιονσ ανδ ηψποτηεσεσ. Ωε

συµµαριζε ουρ ρεσυλτσ ιν Σεχτιον 4. Ιν Σεχτιον 5 ωε εξτενδ ουρ αναλψσισ το τηε χασε

οφ χοµπλεµεντσ. Ωε δισχυσσ ουρ ρεσυλτσ ιν Σεχτιον 6 ανδ χονχλυδε ιν Σεχτιον 7.
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Φιγυρε 1: Τιµελινε οφ τηε γαµε

2 Εξπεριµενταλ δεσιγν ανδ προχεδυρε

Ωε χονσιδερ α τεαµ οφ τωο αγεντσ, αγεντ 1 ανδ αγεντ 2, τηατ γενερατεσ α τεαµ

ουτπυτ Τ . Αγεντσ σεθυεντιαλλψ εξερτ ε⁄ορτ: Φιρστ, αγεντ 1 εξερτσ ε⁄ορτ ε1 � 0.

Σεχονδ, αγεντ 2 οβσερϖεσ α σιγναλ σ ανδ, τηεν, εξερτσ ε⁄ορτ ε2 � 0. Αγεντ ι�σ

ε⁄ορτ ει, ωιτη ι 2 φ1; 2γ, δοεσ νοτ διρεχτλψ ιν�υενχε τηε τεαµ ουτπυτ Τ βυτ τηε

προβαβιλιτψ τηατ αγεντ ι�σ χοντριβυτιον το Τ ισ ηιγη (βι = 1) ρατηερ τηαν λοω (βι = 0),

Πρ (βι = 1ϕει) = π (ει) ωιτη π
0 (ει) > 0. Τηε προβαβιλιτψ τηατ αγεντ ι�σ χοντριβυτιον

το Τ ισ λοω εθυαλσ Πρ (βι = 0ϕει) = 1 � π (ει). π (ει) ισ ινδεπενδεντ οφ εϕ. Τηε συµ

οφ βοτη αγεντσ� χοντριβυτιονσ γενερατεσ τηε τεαµ ουτπυτ Τ := β1 + β2. Εαχη αγεντ

ρεχειϖεσ α ηιγη ωαγε ωΗ ιφ Τ = 2, ι.ε. ιφ τηε χοντριβυτιονσ οφ βοτη αγεντσ αρε ηιγη,

αν ιντερµεδιατε ωαγε ωΜ ιφ Τ = 1, ι.ε. ιφ τηε χοντριβυτιον οφ ονλψ ονε αγεντ ισ ηιγη,

ανδ α λοω ωαγε ωΛ ιφ Τ = 0, ι.ε. ιφ τηε χοντριβυτιονσ οφ βοτη αγεντσ αρε λοω, ωιτη

ωΗ > ωΜ > ωΛ = 0. Ιφ αγεντ ι εξερτσ ε⁄ορτ ει, ηε ινχυρσ πριϖατε χοστσ χ(ει) ωιτη

χ(0) = 0, χ0(ει) � 0, ανδ χ
00(ει) > 0. Αγεντ ι�σ εξπεχτεδ παψο⁄ ισ ηισ εξπεχτεδ ωαγε

µινυσ ηισ ε⁄ορτ χοστσ. Φιγυρε 1 ιλλυστρατεσ τηε τιµινγ οφ τηε γαµε.

Φορ ουρ εξπεριµενταλ δεσιγν ωε χηοοσε τηε φολλοωινγ παραµετερσ. Αγεντ ι 2 φ1; 2γ

χουλδ χηοοσε ε⁄ορτ ει 2 φ0; 1; :::; 80γ ωιτη χορρεσπονδινγ ε⁄ορτ χοστσ χ(ει) =
ε2ι
80
. Αν

ε⁄ορτ οφ ει ψιελδσ α ηιγη χοντριβυτιον (βι = 1) ωιτη προβαβιλιτψ π (ει) = 0:1+0:01 � ει.

Τηε αγεντσ� ωαγεσ χονδιτιοναλ ον τηε τεαµ ουτπυτ αρε ωΗ = 280, ωΜ = 172, ανδ

ωΛ = 0.

Ιν τηισ εξπεριµενταλ στυδψ ωε φοχυσ ον τηε θυεστιον ηοω τηε αϖαιλαβιλιτψ οφ διφ−

φερεντ σιγναλσ α⁄εχτσ τεαµ µατεσ� βεηαϖιορ. Ηενχε, ωε ϖαρψ σ αχροσσ τρεατµεντσ ανδ

κεεπ εϖερψτηινγ ελσε χονσταντ. Ταβλε 1 πρεσεντσ ουρ φουρ τρεατµεντσ.

Ασ αγεντ 1�σ χοντριβυτιον � ιν χοντραστ το ηισ ε⁄ορτ � διρεχτλψ α⁄εχτσ αγεντ 2�σ

παψο⁄, ωε δε�νε ουρ τρεατµεντσ αχχορδινγ το τηε δεγρεε οφ ινφορµατιον τηε σιγναλ

προϖιδεσ αβουτ αγεντ 1�σ χοντριβυτιον. Ιν τρεατµεντ Τ−ΝΟ, ουρ βενχηµαρκ τρεατ−

µεντ, τηερε ισ νο σιγναλ ατ αλλ, ι.ε. σ = φγ. Ηενχε, αγεντ 1�σ ανδ αγεντ 2�σ δεχισιον

προβλεµσ αρε τηεορετιχαλλψ ιδεντιχαλ ανδ σο αγεντσ βεηαϖε ασ ιφ τηεψ ηαδ το δεχιδε
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Ταβλε 1: Τρεατµεντσ

Τρεατµεντ Σιγναλ Νυµβερ οφ

παρτιχιπαντσ

Τ−ΝΟ νο σιγναλ 18

Τ−ΙΜΠ ε1 34

Τ−Π β1 36

Τ−ΠΠλυσ ε1 ανδ β1 30

σιµυλτανεουσλψ.2 Ιν τρεατµεντ Τ−ΙΜΠ σ = ε1 ωηιχη ισ αν ιµπερφεχτ σιγναλ ον β1. Ιν

τρεατµεντ Τ−Π σ = β1, ι.ε. αγεντ 2 ρεχειϖεσ α περφεχτ σιγναλ ον β1. Ιν Τ−ΠΠλυσ αγεντ 2

ρεχειϖεσ σ = (ε1; β1) ανδ ισ αγαιν περφεχτλψ ινφορµεδ ον β1. Οβσερϖινγ ε1 ιν αδδιτιον

το β1 δοεσ, ηοωεϖερ, νοτ προϖιδε µορε ινφορµατιον ον αγεντ 1�σ χοντριβυτιον.

Ιν εαχη οφ ουρ εξπεριµενταλ σεσσιονσ τηε τεαµ προδυχτιον σεττινγ ωασ πλαψεδ φορ

14 ρουνδσ. Ινδιϖιδυαλσ� ρολεσ ασ ωελλ ασ τηε τρεατµεντ χονδιτιονσ ωερε �ξεδ φορ αλλ

ρουνδσ. Τηε µατχηινγ οφ αγεντσ, ιν χοντραστ, ωασ ρανδοµ συχη τηατ ινδιϖιδυαλσ ωερε

νοτ αβλε το διστινγυιση ωηετηερ τηειρ χυρρεντ τεαµ µατε ηαδ αλρεαδψ βεεν µατχηεδ

ωιτη τηεµ ιν α πρεϖιουσ ρουνδ ορ νοτ. Αφτερ εαχη ρουνδ ινδιϖιδυαλσ ρεχειϖεδ φεεδβαχκ

χονχερνινγ ε1, ε2, β1, β2, ανδ βοτη αγεντσ� παψο⁄σ οφ τηε παστ ρουνδ. Τηερεφορε,

τρεατµεντ δι⁄ερενχεσ χαννοτ βε εξπλαινεδ βψ σηαµε. Ονλψ ονε ρανδοµλψ δετερµινεδ

ρουνδ ωασ παιδ φορ αλλ παρτιχιπαντσ οφ α σεσσιον. Ατ τηε ενδ οφ τηε 14τη ρουνδ

ινδιϖιδυαλσ ωερε ινφορµεδ ωηιχη ρουνδ ισ παιδ. Αλλ τηισ ωασ τολδ τηε παρτιχιπαντσ ιν

τηε ινστρυχτιονσ τηατ ωερε ηανδεδ ουτ ατ τηε βεγιννινγ οφ τηε εξπεριµεντ ανδ ωερε

φραµεδ ασ α τεαµ ωορκ σεττινγ.3 Ιν α ποστ−εξπεριµενταλ θυεστιονναιρε ωε ελιχιτεδ

δατα ον τηε παρτιχιπαντσ� σεξ, συβϕεχτ οφ στυδιεσ ανδ ρισκ αττιτυδε4.

Ουρ εξπεριµενταλ σεσσιονσ ωερε ρυν ατ τηε Μυνιχη Εξπεριµενταλ Λαβορατορψ φορ

Εχονοµιχ ανδ Σοχιαλ Σχιενχεσ (ΜΕΛΕΣΣΑ) ιν Γερµανψ ιν 2008. 118 ινδιϖιδυαλσ

παρτιχιπατεδ ιν τηε εξπεριµεντ. Τηεψ ωερε ρανδοµλψ ασσιγνεδ το σεσσιονσ ανδ χουλδ

2Εµπιριχαλλψ, τηε µερε κνοωλεδγε αβουτ τηε πηψσιχαλ τιµινγ οφ µοϖεσ µαψ α⁄εχτ βεηαϖιορ εϖεν

ιφ τηε ινφορµατιοναλ χονδιτιον ισ εθυιϖαλεντ το α σιµυλτανεουσ σεττινγ: ∆υ⁄ψ ετ αλ. (2007), φορ

ινστανχε, �νδ τηατ τηε τιµινγ ιτσελφ µαττερσ ιν α δψναµιχ πυβλιχ γοοδ εξπεριµεντ, ωηερεασ Μασχλετ

ετ αλ. (2007) �νδ τηατ ιτ ηασ νο ε⁄εχτ ιν α στανδαρδ πυβλιχ γοοδ εξπεριµεντ.
3Σεε τηε αππενδιξ φορ α µορε δεταιλεδ δεσχριπτιον οφ τηε προχεδυρε οφ α σεσσιον ανδ τρανσλατεδ

ινστρυχτιονσ. Οριγιναλ ινστρυχτιονσ αρε ωριττεν ιν Γερµαν ανδ αρε αϖαιλαβλε υπον ρεθυεστ.
4Ινδιϖιδυαλσ ινδιχατεδ ον α σχαλε ρανγινγ φροµ 0 το 10 ωηετηερ τηεψ αρε ωιλλινγ το τακε ρισκσ

(ορ τρψ το αϖοιδ ρισκσ). 0 ρεπρεσεντεδ α ϖερψ ωεακ ωιλλινγνεσσ το τακε ρισκσ, ωηιλε 10 ρεπρεσεντεδ

α στρονγ ωιλλινγνεσσ το τακε ρισκσ. ∆οηµεν ετ αλ. (2005) σηοω τηατ τηισ γενεραλ ρισκ θυεστιον ισ α

γοοδ πρεδιχτορ οφ αχτυαλ ρισκ−τακινγ βεηαϖιορ.
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τακε παρτ ιν ονε σεσσιον ονλψ. Φορ τηε ρεχρυιτµεντ ωε υσεδ τηε σοφτωαρε ΟΡΣΕΕ βψ

Γρεινερ (2004). Τηε εξπεριµεντ ωασ προγραµµεδ ανδ χονδυχτεδ ωιτη τηε εξπερ−

ιµενταλ σοφτωαρε ζ−Τρεε βψ Φισχηβαχηερ (2007). Τηε σεσσιονσ λαστεδ αβουτ 1 ηουρ.

Ινδιϖιδυαλσ εαρνεδ ον αϖεραγε 12.6 ε (ατ τηε τιµε οφ τηε εξπεριµεντ 1 ε � 1.57

ΥΣ∆), ινχλυδινγ α σηοω−υπ φεε οφ 7 ε5.

3 Βεηαϖιοραλ πρεδιχτιονσ ανδ ηψποτηεσεσ

Ιν τηισ σεχτιον ωε δεριϖε βεηαϖιοραλ πρεδιχτιονσ ον ηοω αγεντσ ιν α τεαµ ρεαχτ ωηεν

ονε µεµβερ ρεχειϖεσ α σιγναλ ον ηισ χολλεαγυε�σ περφορµανχε. Ασ α βενχηµαρκ, ωε

χονσιδερ τηε στανδαρδ νεοχλασσιχαλ αππροαχη.

3.1 Βεηαϖιοραλ πρεδιχτιονσ οφ α σελφ−ιντερεστ µοδελ

Τηε στανδαρδ νεοχλασσιχαλ αππροαχη ασσυµεσ τηατ αλλ ινδιϖιδυαλσ αρε σελ�ση, ι.ε. τηειρ

υτιλιτψ δεπενδσ ονλψ ον τηειρ οων µατεριαλ παψο⁄ ανδ ινχρεασεσ ιν τηισ παψο⁄. Φυρ−

τηερµορε, ωε ασσυµε τηατ αλλ ινδιϖιδυαλσ µαξιµιζε τηειρ εξπεχτεδ υτιλιτψ ανδ αρε

ρισκ−νευτραλ.

Τ−ΝΟ

Ιφ τηερε ισ νο σιγναλ ατ αλλ, ωε σολϖε φορ τηε Ναση εθυιλιβριυµ οφ τηε σιµυλτανεουσ

µοϖε γαµε. Αγεντ ι�σ εξπεχτεδ παψο⁄ γιϖεν αγεντ ϕ χηοοσεσ εϕ, ωιτη ι; ϕ 2 φ1; 2γ

ανδ ϕ 6= ι, ανδ ωΛ = 0 ισ

Υι (ει; εϕ) = ωΗ � π (ει) � π (εϕ) + ωΜ � [π (ει) � (1� π (εϕ)) + (1� π (ει)) � π (εϕ)]�
ε2ι
80
.

Μαξιµιζινγ Υι (ει; εϕ) ωιτη ρεσπεχτ το ει, αγεντ ι�σ ρεαχτιον φυνχτιον ισ

ε�ι (εϕ) = 0:4 � [ωΜ + (0:1 + 0:01 � εϕ) � (ωΗ � 2 � ωΜ)].

ε�ι (εϕ) στριχτλψ ινχρεασεσ ιν εϕ ιφ ωΗ > 2�ωΜ , ωηιλε ιτ στριχτλψ δεχρεασεσ ιφ ωΗ < 2�ωΜ .

Ηενχε, ε⁄ορτσ αρε στρατεγιχ χοµπλεµεντσ ιφ ωΗ > 2 � ωΜ , ωηιλε τηεψ αρε στρατεγιχ

συβστιτυτεσ ιν ουρ σεττινγ ασ ωΗ < 2�ωΜ . Σολϖινγ φορ τηε ιντερσεχτιον οφ βοτη αγεντσ�

ρεαχτιον φυνχτιονσ ανδ συβστιτυτινγ ωΗ = 280 ανδ ωΜ = 172, ωε δεριϖε τηε υνιθυε

Ναση εθυιλιβριυµ ιν ωηιχη ε�1 = ε
�
2 =

165:6
3:14

� 52:74.

5Ωε χηοσε α ρελατιϖελψ ηιγη σηοω−υπ φεε ασ λοσσεσ ωερε δεδυχτεδ φροµ τηε σηοω−υπ φεε. Τηισ ωασ

αππλιεδ φορ αβουτ 10 % οφ τηε παρτιχιπαντσ.
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Τ−ΙΜΠ

Ιν Τ−ΙΜΠ αγεντ 2 ρεχειϖεσ τηε σιγναλ σ = ε1 ανδ ωε σολϖε φορ τηε συβγαµε περφεχτ

Ναση εθυιλιβριυµ γιϖεν σ = ε1. Αγεντ 2�σ ρεαχτιον το σ = ε1 ισ εθυιϖαλεντ το ηισ

ρεαχτιον φυνχτιον ιν Τ−ΝΟ, ι.ε.

ε�2(σ) = 0:4 � [ωΜ + (0:1 + 0:01 � σ) � (ωΗ � 2 � ωΜ)].

Εθυιϖαλεντλψ το αβοϖε, ε�2(σ) στριχτλψ ινχρεασεσ (δεχρεασεσ) ιν σ = ε1 ιφ ωΗ >(<)2�ωΜ .

ε�2(σ) = ε
�
2(ε1) µαξιµιζεσ αγεντ 2�σ εξπεχτεδ παψο⁄ Υ2 (ε2; σ) γιϖεν σ = ε1. Αγεντ 1

αντιχιπατεσ αγεντ 2�σ ρεαχτιον το σ ανδ µαξιµιζεσ ηισ οων εξπεχτεδ παψο⁄

Υ1 (ε1; ε
�
2(ε1)) =

ωΗ � π (ε1) � π (ε
�
2(ε1)) + ωΜ � [π (ε1) � (1� π (ε

�
2(ε1))) + (1� π (ε1)) � π (ε

�
2(ε1))]�

ε2
1

80

ωιτη ρεσπεχτ το ε1. Αγεντ 1�σ εξπεχτεδ παψο⁄ ισ µαξιµιζεδ ατ ε1 =
1:616256
0:0434464

� 37:20.

Χονσεθυεντλψ, ιν τηε υνιθυε συβγαµε περφεχτ Ναση εθυιλιβριυµ ε�1 = σ � 37:20 ανδ

ε�2 =
2:464128
0:0434464

� 56:72 αχχορδινγ το αγεντ 2�σ ρεαχτιον (ε�2(ε1) = 66:24� 0:256 � ε1).

Τ−Π

Ιν Τ−Π ωε σολϖε φορ τηε υνιθυε Ναση εθυιλιβριυµ γιϖεν σ = β1. Αγεντ 2�σ εξπεχτεδ

παψο⁄ γιϖεν αγεντ 1�σ χοντριβυτιον ισ ηιγη, ι.ε. σ = β1 = 1, ισ

Υ2 (ε2; β1 = 1) = ωΗ � π (ε2) + ωΜ � (1� π (ε2))�
ε22
80
: (1)

Υ2 (ε2; β1 = 1) ισ µαξιµιζεδ ατ ε
�
2(β1 = 1) = 0:4 � (ωΗ � ωΜ) = 43:20. Αγεντ 2�σ

εξπεχτεδ παψο⁄ γιϖεν αγεντ 1�σ χοντριβυτιον ισ λοω, ι.ε. σ = β1 = 0, ισ

Υ2 (ε2; β1 = 0) = ωΜ � π (ε2)�
ε22
80
: (2)

Υ2 (ε2; β1 = 0) ισ µαξιµιζεδ ατ ε
�
2(β1 = 0) = 0:4 � ωΜ = 68:80. Νοτε τηατ ε�2(β1 =

1) >(<)ε�2(β1 = 0) ιφ ωΗ >(<)2 � ωΜ . Αγεντ 1 αντιχιπατεσ αγεντ 2�σ ρεαχτιον το σ

ανδ µαξιµιζεσ ηισ οων εξπεχτεδ παψο⁄

Υ1 (ε1; ε
�
2(β1)) = ωΗ � π (ε1) � π (ε

�
2(β1 = 1)) + ωΜ �

[π (ε1) � (1� π (ε
�
2(β1 = 1))) + (1� π (ε1)) � π (ε

�
2(β1 = 0))]�

ε2
1

80

ωιτη ρεσπεχτ το ε1. ε1 = 37:568 µαξιµιζεσ Υ1 (ε1; ε
�
2(β1)). Ηενχε, ιν τηε υνιθυε Ναση

εθυιλιβριυµ ε�1 = 37:568, ε
�
2(β1 = 1) = 43:20, ανδ ε

�
2(β1 = 0) = 68:80.
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Τ−ΠΠλυσ

Ιν Τ−ΠΠλυσ αγεντ 2 αλσο οβσερϖεσ αγεντ 1�σ ε⁄ορτ (ιν αδδιτιον το ηισ χοντριβυτιον).

Τηισ αδδιτιοναλ πιεχε οφ ινφορµατιον δοεσ, ηοωεϖερ, νειτηερ ιν�υενχε αγεντ 2�σ εξ−

πεχτεδ παψο⁄ νορ ηισ ρεαχτιον το σ ιν χοµπαρισον το Τ−Π σινχε αγεντ 2�σ εξπεχτεδ

παψο⁄ ισ ινδεπενδεντ οφ ε1 γιϖεν β1 (χφ. Εθυατιονσ 1 ανδ 2). Χονσεθυεντλψ, αγεντ

1�σ δεχισιον προβλεµ ισ τηε σαµε ασ ιν Τ−Π. Τηυσ, ιν τηε υνιθυε Ναση εθυιλιβριυµ

ε�1 = 37:568, ε
�
2(β1 = 1) = 43:20, ανδ ε

�
2(β1 = 0) = 68:80.

Ταβλε 2 συµµαριζεσ τηε πρεδιχτιονσ οφ τηε στανδαρδ σελφ−ιντερεστ µοδελ. Ιν αλλ

τρεατµεντσ αγεντσ ωορκ ινε′χιεντλψ λιττλε σινχε αν ε⁄ορτ οφ 80 αλωαψσ µαξιµιζεσ τηε

συµ οφ παψο⁄σ.

Ταβλε 2: Βεηαϖιοραλ πρεδιχτιονσ

Τρεατµεντ ε1 ε2

Τ−ΝΟ 52.74 52.74

Τ−ΙΜΠ 37.20 66.24 − 0.256 ∗ ε1 = 56.72

Τ−Π 37.57 43.20 ιφ β1 = 1

68.80 ιφ β1 = 0

Τ−ΠΠλυσ 37.57 43.20 ιφ β1 = 1

68.80 ιφ β1 = 0

Τηε πρεδιχτιονσ αρε ρουνδεδ το τωο διγιτσ αφτερ τηε
δεχιµαλ ποιντ.

3.2 Ηψποτηεσεσ

Βασεδ ον τηε πρεδιχτιονσ οφ τηε σελφ−ιντερεστ µοδελ, ωε φορµυλατε τηε φολλοωινγ ηψ−

ποτηεσεσ.

Ηψποτηεσισ 1 ∆εχρεασινγ ρεαχτιον οφ τηε σεχονδ µοϖερ το ινφορµατιϖε σιγναλσ:

(ι) Ιν Τ−ΙΜΠ τηε σεχονδ µοϖερ εξερτσ λεσσ ε⁄ορτ τηε ηιγηερ τηε �ρστ µοϖερ�σ ε⁄ορτ.

(ιι) Ιν Τ−Π ανδ Τ−ΠΠλυσ τηε σεχονδ µοϖερ εξερτσ λεσσ ε⁄ορτ ωηεν τηε �ρστ µοϖερ�σ

χοντριβυτιον ισ ηιγη τηαν ωηεν ιτ ισ λοω.

Ιφ ωΗ < 2 � ωΜ , τηε σεχονδ µοϖερ φαχεσ ηιγηερ ινχεντιϖεσ το ωορκ ωηεν ειτηερ

τηε �ρστ µοϖερ ωορκσ λεσσ ιν Τ−ΙΜΠ, ορ ωηεν τηε �ρστ µοϖερ�σ χοντριβυτιον ισ λοω

ρατηερ τηαν ηιγη ιν Τ−Π ανδ Τ−ΠΠλυσ.
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Ηψποτηεσισ 2 Λεσσ ε⁄ορτ οφ τηε �ρστ µοϖερ ωηεν σιγναλσ αρε ινφορµατιϖε: Τηε �ρστ

µοϖερ�σ ε⁄ορτ ισ σµαλλερ ιν Τ−ΙΜΠ, Τ−Π, ανδ Τ−ΠΠλυσ τηαν ιν Τ−ΝΟ.

Ιφ ωΗ < 2 � ωΜ , τηε �ρστ µοϖερ λεανσ βαχκ ωηεν σιγναλσ αρε ινφορµατιϖε. Τηισ ισ

δυε το τηε �ρστ µοϖερ�σ αντιχιπατιον τηατ τηε σεχονδ µοϖερ ωορκσ µορε τηε σµαλλερ

τηε ινφορµατιϖε σιγναλ. Ηενχε, βψ ωορκινγ λεσσ ηε χαν σηιφτ ωορκ λοαδ το τηε σεχονδ

µοϖερ ανδ σαϖε ε⁄ορτ χοστσ.

Ηψποτηεσισ 3 Νο αδδιτιοναλ ινφορµατιον βψ τηε �ρστ µοϖερ�σ ε⁄ορτ ωηεν τηε �ρστ

µοϖερ�σ χοντριβυτιον ισ κνοων: Ε⁄ορτσ ιν Τ−Π ανδ Τ−ΠΠλυσ αρε τηε σαµε.

Ασ ινδιϖιδυαλσ ονλψ χαρε αβουτ τηειρ οων εξπεχτεδ παψο⁄, τηε ινφορµατιον ον τηε

�ρστ µοϖερ�σ ε⁄ορτ ιν αδδιτιον το τηε ινφορµατιον ον τηε �ρστ µοϖερ�σ χοντριβυτιον

δοεσ νοτ αλτερ τηε σεχονδ µοϖερ�σ µαξιµιζατιον προβλεµ. Τηερεφορε, βοτη αγεντσ�

δεχισιονσ αρε ιδεντιχαλ ιν Τ−Π ανδ Τ−ΠΠλυσ.

4 Ρεσυλτσ

Φιρστ, ωε φοχυσ ον τηε σεχονδ µοϖερ�σ βεηαϖιορ ανδ αναλψζε ηοω ιτ ισ α⁄εχτεδ βψ

δι⁄ερεντ σιγναλσ. Τηεν, ωε χονσιδερ τηε �ρστ µοϖερ�σ βεηαϖιορ.

4.1 Τηε σεχονδ µοϖερ�σ βεηαϖιορ

Ταβλε 3 ρεπορτσ φορ εαχη τρεατµεντ τηε µεαν ανδ τηε στανδαρδ δεϖιατιον οφ τηε

σεχονδ µοϖερ�σ ε⁄ορτ αχροσσ ινδιϖιδυαλσ ανδ αλλ ρουνδσ.

Ταβλε 3: Μεαν ανδ στανδαρδ δεϖιατιον οφ ε2

Τρεατµεντ Μεαν Στανδαρδ Νυµβερ οφ

δεϖιατιον οβσερϖατιονσ

Τ−ΝΟ 50.29 13.23 126

Τ−ΝΟ∗ 49.07 14.21 252

Τ−ΙΜΠ 53.49 23.98 238

Τ−Π 54.25 23.72 252

Τ−ΠΠλυσ 55.26 18.34 210

∗: ε1 ανδ ε2 αρε χονσιδερεδ.

11



Φιγυρε 2: Τηε σεχονδ µοϖερ�σ αϖεραγε ρεαχτιον ιν Τ−Π ανδ Τ−ΠΠλυσ
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Ιν Τ−ΝΟ τηε σεχονδ µοϖερ�σ αϖεραγε ε⁄ορτ ισ αρουνδ 50 (ωιτη ορ ωιτηουτ τηε

δεχισιονσ οφ τηε �ρστ µοϖερσ)6 ωηιχη ισ χλοσε το ουρ πρεδιχτιον οφ 52.74. Ιφ, ιν χοντραστ,

αν ινφορµατιϖε σιγναλ ισ αϖαιλαβλε φορ τηε σεχονδ µοϖερ, τηε σεχονδ µοϖερ ωορκσ

µορε ον αϖεραγε. Τηισ µαψ βε χαυσεδ βψ τηε σιγναλ�σ ρεαλιζεδ ϖαλυε τηε σεχονδ

µοϖερ οβσερϖεσ ιν τηεσε τρεατµεντσ. Ιν τηε φολλοωινγ ωε, τηερεφορε, ιλλυστρατε ηοω

τηε σεχονδ µοϖερ ρεαχτσ το τηε σιγναλσ. Τηε σεχονδ µοϖερ�σ αϖεραγε ρεαχτιον το

τηε �ρστ µοϖερ�σ χοντριβυτιον ισ χονσιδεραβλψ δι⁄ερεντ τηαν πρεδιχτεδ: Ιν Τ−Π τηε

σεχονδ µοϖερ ωορκσ µορε ωηεν τηε �ρστ µοϖερ�σ χοντριβυτιον ισ ηιγη ρατηερ τηαν

λοω, ανδ ιν Τ−ΠΠλυσ τηε σεχονδ µοϖερ�σ αϖεραγε ε⁄ορτ δοεσ νοτ ϖαρψ ιν τηε �ρστ

µοϖερ�σ χοντριβυτιον. Φιγυρε 2 ρεπορτσ τηε σεχονδ µοϖερ�σ αϖεραγε ε⁄ορτ χονδιτιοναλ

ον τηε �ρστ µοϖερ�σ χοντριβυτιον ιν Τ−Π ανδ Τ−ΠΠλυσ.

Ιφ ωε χονσιδερ τηε σεχονδ µοϖερ�σ ρεαχτιον το τηε �ρστ µοϖερ�σ ε⁄ορτ ιν Τ−ΙΜΠ

ανδ Τ−ΠΠλυσ, ωε �νδ τηατ τηε σεχονδ µοϖερ�σ ε⁄ορτ ισ ποσιτιϖελψ χορρελατεδ ωιτη τηε

�ρστ µοϖερ�σ ε⁄ορτ: Ιν Τ−ΙΜΠ ανδ ιν Τ−ΠΠλυσ τηε χορρελατιον χοε′χιεντ ισ εθυαλ το

0.24 ανδ 0.12, ρεσπεχτιϖελψ. Τηε σελφ−ιντερεστ µοδελ, ιν χοντραστ, πρεδιχτσ α νεγατιϖε

χορρελατιον ιν Τ−ΙΜΠ ανδ νο χορρελατιον ιν Τ−ΠΠλυσ.

Ιν ορδερ το αναλψζε τηε σεχονδ µοϖερ�σ βεηαϖιορ µορε χλοσελψ ανδ το τεστ ουρ

ηψποτηεσεσ ρεγαρδινγ τηε σεχονδ µοϖερ, ωε ρεγρεσσ τηε σεχονδ µοϖερ�σ ε⁄ορτ7 ον

6Ασ ιν Τ−ΝΟ τηε σεχονδ µοϖερ δοεσ νοτ ρεχειϖε α σιγναλ πριορ το ηισ δεχισιον, τηε �ρστ µοϖερ�σ

δεχισιον προβλεµ ισ τηεορετιχαλλψ ιδεντιχαλ το τηε σεχονδ µοϖερ�σ δεχισιον προβλεµ. Τηερεφορε, βοτη

αγεντσ� δεχισιονσ οφ Τ−ΝΟ µαψ βε χονσιδερεδ ιν τηε αναλψσισ οφ τηε σεχονδ µοϖερ�σ βεηαϖιορ.
7Ιν ουρ ρεγρεσσιονσ ωε αλσο χονσιδερ τηε �ρστ µοϖερ�σ δεχισιονσ ιν Τ−ΝΟ. Ουρ ρεσυλτσ δο νοτ
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τρεατµεντ δυµµιεσ, τηε ιντεραχτιονσ οφ τρεατµεντσ δυµµιεσ ωιτη αϖαιλαβλε σιγναλσ,

ανδ χοντρολ ϖαριαβλεσ συχη ασ σεξ ανδ ρισκ αϖερσιον8. Ιν τηε �ρστ τωο χολυµνσ οφ

Ταβλε 4 ωε ρεπορτ τηε ρεσυλτσ οφ τωο ρανδοµ ε⁄εχτσ πανελ ρεγρεσσιονσ ωηερε ονε

(Τοβιτ) χαπτυρεσ τηατ ουρ δεπενδεντ ϖαριαβλε ισ (ωεακλψ) βετωεεν 0 ανδ 80.

Ταβλε 4: Ρεγρεσσιον ρεσυλτσ ον ε2 ανδ ε1

∆επενδεντ ϖαριαβλε: ε2 ε2 ε1 ε1

Πανελ (ρε) Πανελ (ρε) Πανελ (ρε) Πανελ (ρε)

(Τοβιτ) (Τοβιτ)

Ιντερχεπτ +47.30 +46.73 +45.58 +44.65

(0.000) (0.000) (0.000) (0.000)

Τ−ΙΜΠ − 09.72 − 13.17 +07.49 +07.72)

(0.066) (0.045) (0.092) (0.124)

Τ−Π − 01.44 − 01.73 +02.54 +01.88

(0.737) (0.752) (0.568) (0.707)

Τ−ΠΠλυσ − 05.46 − 05.65 +10.66 +12.17

(0.432) (0.496) (0.020) (0.019)

Τ−ΙΜΠ ∗ ε1 +00.24 +00.34

(0.000) (0.000)

Τ−ΠΠλυσ ∗ ε1 +00.25 +00.27

(0.008) (0.014)

Τ−Π ∗ β1 +12.56 +16.01

(0.000) (0.000)

Τ−ΠΠλυσ ∗ β1 − 02.88 − 03.03

(0.275) (0.313)

Σεξ +05.65 +08.05 +06.85 +08.54

(1 ιφ µαλε, 0 ελσε) (0.059) (0.035) (0.040) (0.023)

Ρισκ αϖερσιον − 01.65 − 02.88 − 02.53 − 01.92

(1 ιφ ρισκ αϖερσε, 0 ελσε) (0.582) (0.453) (0.454) (0.617)

Νυµβερ οφ οβσερϖατιονσ 952 952 952 952

(Πσευδο) Ρ−σθυαρεδ 0.069 0.089

(ρε): ρανδοµ ε⁄εχτσ
Ιν αλλ φουρ ρεγρεσσιονσ ε1 ανδ ε2 ιν Τ−ΝΟ αρε χονσιδερεδ.
Νυµβερσ ιν βραχκετσ ρεπρεσεντ τηε π−ϖαλυεσ οφ τηε χοε′χιεντσ.

χηανγε θυαλιτατιϖελψ ωηεν ωε ονλψ χονσιδερ τηε σεχονδ µοϖερ�σ δεχισιονσ.
8Ωε χρεατε τηε ϖαριαβλε φορ ρισκ αϖερσιον φροµ ουρ µεασυρε οφ ρισκ αττιτυδε τηατ ωε ελιχιτεδ ιν

τηε ποστ−εξπεριµενταλ θυεστιονναιρε.
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Ωηεν ονλψ τηε �ρστ µοϖερ�σ ε⁄ορτ ισ οβσερϖαβλε (Τ−ΙΜΠ), τηε σεχονδ µοϖερ�σ

ε⁄ορτ σιγνι�χαντλψ ινχρεασεσ ιν τηε �ρστ µοϖερ�σ ε⁄ορτ. Ωηεν ονλψ τηε �ρστ µοϖερ�σ

χοντριβυτιον ισ οβσερϖαβλε (Τ−Π), τηε σεχονδ µοϖερ�σ ε⁄ορτ σιγνι�χαντλψ ινχρεασεσ ιν

τηε �ρστ µοϖερ�σ χοντριβυτιον. Ωηεν βοτη τηε �ρστ µοϖερ�σ ε⁄ορτ ανδ χοντριβυτιον

αρε οβσερϖαβλε (Τ−ΠΠλυσ), τηε σεχονδ µοϖερ�σ ε⁄ορτ σιγνι�χαντλψ ινχρεασεσ ιν τηε

�ρστ µοϖερ�σ ε⁄ορτ. Ωε δο, ηοωεϖερ, νοτ �νδ α σιγνι�χαντ ε⁄εχτ οφ τηε �ρστ µοϖερ�σ

χοντριβυτιον ον τηε σεχονδ µοϖερ�σ ε⁄ορτ ιν Τ−ΠΠλυσ. Τηεσε ρεσυλτσ χον�ρµ ουρ

πρεϖιουσ οβσερϖατιονσ φροµ Φιγυρε 2 ανδ φροµ τηε χορρελατιον χοε′χιεντσ ιν Τ−ΙΜΠ

ανδ Τ−ΠΠλυσ: Ιν χοντραστ το ουρ πρεδιχτιονσ, τηε σεχονδ µοϖερ ποσιτιϖελψ ρεαχτσ

το ινφορµατιϖε σιγναλσ � ιν Τ−ΠΠλυσ ατ λεαστ το τηε �ρστ µοϖερ�σ ε⁄ορτ. Τηε �ρστ

µοϖερ�σ ε⁄ορτ σεεµσ το βε αν εσπεχιαλλψ στιµυλατινγ σιγναλ ασ ιτ εϖεν α⁄εχτσ τηε

σεχονδ µοϖερ�σ ε⁄ορτ ιν Τ−ΠΠλυσ. Χονσεθυεντλψ, ωε ρεϕεχτ Ηψποτηεσεσ 1(ι) ανδ

1(ιι). Ωε αλσο ρεϕεχτ Ηψποτηεσισ 3 σινχε τηε σεχονδ µοϖερ�σ βεηαϖιορ ιν Τ−ΠΠλυσ

ϖαριεσ ωιτη τηε �ρστ µοϖερ�σ ε⁄ορτ ανδ, τηερεφορε, δοεσ νοτ εθυαλ τηε σεχονδ µοϖερ�σ

βεηαϖιορ ιν Τ−Π.

Ωε συµµαριζε ουρ �νδινγσ ον τηε σεχονδ µοϖερ�σ βεηαϖιορ ιν τηε φολλοωινγ τηρεε

ρεσυλτσ:

Ρεσυλτ 1 Ηιγηερ αϖεραγε ε⁄ορτ οφ τηε σεχονδ µοϖερ ιν Τ−ΙΜΠ, Τ−Π, ανδ Τ−ΠΠλυσ

τηαν ιν Τ−ΝΟ: Ον αϖεραγε τηε σεχονδ µοϖερ εξερτσ µορε ε⁄ορτ ωηεν ινφορµατιϖε

σιγναλσ αρε αϖαιλαβλε φορ τηε σεχονδ µοϖερ.

Ρεσυλτ 2 Ινχρεασινγ ρεαχτιον οφ τηε σεχονδ µοϖερ ιν Τ−ΙΜΠ, Τ−Π, ανδ Τ−ΠΠλυσ:

Ιν χοντραστ το Ηψποτηεσεσ 1(ι) ανδ 1(ιι), τηε σεχονδ µοϖερ εξερτσ µορε ε⁄ορτ, τηε

ηιγηερ τηε �ρστ µοϖερ�σ ε⁄ορτ ιν Τ−ΙΜΠ ανδ Τ−ΠΠλυσ, ορ τηε ηιγηερ τηε �ρστ µοϖερ�σ

χοντριβυτιον ιν Τ−Π.

Ρεσυλτ 3 Ε⁄εχτ οφ τηε �ρστ µοϖερ�σ ε⁄ορτ ον τηε σεχονδ µοϖερ�σ βεηαϖιορ ωηεν

τηε �ρστ µοϖερ�σ χοντριβυτιον ισ οβσερϖαβλε: Ιν χοντραστ το Ηψποτηεσισ 3, τηε σεχονδ

µοϖερ�σ ε⁄ορτ ινχρεασεσ ιν τηε �ρστ µοϖερ�σ ε⁄ορτ ιν Τ−ΠΠλυσ.

4.2 Τηε �ρστ µοϖερ�σ βεηαϖιορ

Ωε νοω τυρν το τηε �ρστ µοϖερ. Ουρ τηεορετιχαλ πρεδιχτιονσ οφ τηε �ρστ µοϖερ�σ

βεηαϖιορ αρε βασεδ ον τηε φαχτ τηατ τηε �ρστ µοϖερ εξπεχτσ τηε σεχονδ µοϖερ το

ρεαχτ ασ πρεδιχτεδ βψ τηε σελφ−ιντερεστ µοδελ. Ψετ, τηε σεχονδ µοϖερ�σ βεηαϖιορ

σψστεµατιχαλλψ δεϖιατεσ φροµ τηε πρεδιχτιονσ. Τηε �ρστ µοϖερ µαψ αντιχιπατε τηε
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σεχονδ µοϖερ�σ αχτυαλ βεηαϖιορ ανδ, τηερεφορε, βεηαϖε δι⁄ερεντλψ τηαν ηψποτηεσιζεδ

εϖεν ιφ ηε µαξιµιζεσ ηισ οων µατεριαλ παψο⁄. Ταβλε 5 ρεπορτσ φορ εαχη τρεατµεντ τηε

µεαν ανδ τηε στανδαρδ δεϖιατιον οφ τηε �ρστ µοϖερ�σ ε⁄ορτ αχροσσ ινδιϖιδυαλσ ανδ

ρουνδσ. Σιµιλαρ το τηε σεχονδ µοϖερ�σ βεηαϖιορ ιν Τ−ΝΟ, τηε �ρστ µοϖερ�σ αϖεραγε

Ταβλε 5: Μεαν ανδ στανδαρδ δεϖιατιον οφ ε1

Τρεατµεντ Μεαν Στανδαρδ Νυµβερ οφ

δεϖιατιον οβσερϖατιονσ

Τ−ΝΟ 47.84 15.08 126

Τ−ΝΟ∗ 49.07 14.21 252

Τ−ΙΜΠ 55.26 17.74 238

Τ−Π 49.28 24.15 252

Τ−ΠΠλυσ 58.43 13.34 210

∗: ε1 ανδ ε2 αρε χονσιδερεδ.

ε⁄ορτ ιν Τ−ΝΟ ισ αβουτ 50 ωηιχη ισ ρελατιϖελψ χλοσε το τηε πρεδιχτιον οφ 52.74. Ιν αλλ

τρεατµεντσ ωιτη αν ινφορµατιϖε σιγναλ τηε �ρστ µοϖερ ωορκσ µορε ον αϖεραγε τηαν ιν

Τ−ΝΟ ανδ χονσιδεραβλψ µορε τηαν πρεδιχτεδ. Τηυσ, τηε �ρστ µοϖερ δοεσ ον αϖεραγε

νοτ λεαν βαχκ ωηεν τηε σεχονδ µοϖερ ρεχειϖεσ αν ινφορµατιϖε σιγναλ. Ονε χαν σηοω

τηατ � γιϖεν τηε αχτυαλ βεηαϖιορ οφ τηε σεχονδ µοϖερσ � ιτ παιδ ο⁄ φορ �ρστ µοϖερσ

το ωορκ µορε ωηεν ινφορµατιϖε σιγναλσ αρε αϖαιλαβλε.

Ιν ορδερ το τεστ ουρ ηψποτηεσεσ ρεγαρδινγ τηε �ρστ µοϖερ, ωε ρεγρεσσ τηε �ρστ

µοϖερ�σ ε⁄ορτ ον τρεατµεντ δυµµιεσ ανδ χοντρολ ϖαριαβλεσ συχη ασ σεξ ανδ ρισκ

αϖερσιον.9 Ιν τηε τηιρδ ανδ φουρτη χολυµν οφ Ταβλε 4 ωε ρεπορτ τηε ρεσυλτσ οφ τωο

ρανδοµ ε⁄εχτσ πανελ ρεγρεσσιον ωηερε ονε (Τοβιτ) χαπτυρεσ τηατ ουρ δεπενδεντ ϖαρι−

αβλε ισ (ωεακλψ) βετωεεν 0 ανδ 80.

Ωηεν τηε σεχονδ µοϖερ ονλψ οβσερϖεσ τηε �ρστ µοϖερ�σ ε⁄ορτ (Τ−ΙΜΠ), τηε �ρστ

µοϖερ ωορκσ (µαργιναλλψ) σιγνι�χαντλψ µορε χοµπαρεδ το Τ−ΝΟ. Ωηεν τηε σεχονδ

µοϖερ οβσερϖεσ ονλψ τηε �ρστ µοϖερ�σ χοντριβυτιον (Τ−Π), τηε �ρστ µοϖερ νειτηερ

ωορκσ σιγνι�χαντλψ µορε νορ λεσσ χοµπαρεδ το Τ−ΝΟ. Ωηεν τηε σεχονδ µοϖερ οβ−

σερϖεσ βοτη τηε �ρστ µοϖερ�σ ε⁄ορτ ανδ χοντριβυτιον (Τ−ΠΠλυσ), τηε �ρστ µοϖερ ωορκσ

σιγνι�χαντλψ µορε τηαν ιν Τ−ΝΟ. Τηυσ, τηε αϖαιλαβιλιτψ οφ σιγναλσ (ωεακλψ) ινχρεασεσ

τηε �ρστ µοϖερ�σ ε⁄ορτ. Εσπεχιαλλψ τηε οβσερϖαβιλιτψ οφ ηισ ε⁄ορτ στιµυλατεσ τηε �ρστ

µοϖερ το ωορκ µορε. Τηε ρεασον µαψ βε τηατ τηε σεχονδ µοϖερ ποσιτιϖελψ ρεαχτσ

9Ιν ουρ ρεγρεσσιονσ ωε αλσο χονσιδερ τηε σεχονδ µοϖερ�σ δεχισιονσ ιν Τ−ΝΟ. Ουρ ρεσυλτσ δο νοτ

χηανγε θυαλιτατιϖελψ ωηεν ωε ονλψ χονσιδερ τηε �ρστ µοϖερ�σ δεχισιονσ.
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το τηε �ρστ µοϖερ�σ ε⁄ορτ ανδ τηε �ρστ µοϖερ αντιχιπατεσ τηισ. Αλτηουγη τηε σεχονδ

µοϖερ ποσιτιϖελψ ρεαχτσ το τηε �ρστ µοϖερ�σ χοντριβυτιον ιν Τ−Π, τηε �ρστ µοϖερ δοεσ

νοτ ωορκ σιγνι�χαντλψ µορε ιν Τ−Π τηαν ιν Τ−ΝΟ. Τηε ρεασον µαψ βε τηατ τηε �ρστ

µοϖερ�σ ε⁄ορτ δοεσ νοτ διρεχτλψ µαπ ιντο ηισ χοντριβυτιον. Ον τηε βασισ οφ τηεσε

ρεσυλτσ, ωε ρεϕεχτ Ηψποτηεσισ 2. Ωε αλσο ρεϕεχτ Ηψποτηεσισ 3 σινχε τηε χοε′χιεντ

οφ Τ−ΠΠλυσ ισ σιγνι�χαντλψ λαργερ τηαν τηε ονε οφ Τ−Π ιν βοτη ρεγρεσσιονσ. Τηεσε

�νδινγσ αρε συµµαριζεδ ιν τηε φολλοωινγ τωο ρεσυλτσ:

Ρεσυλτ 4 Νο δεχρεασινγ ε⁄εχτ οφ ινφορµατιϖε σιγναλσ ον τηε �ρστ µοϖερ�σ ε⁄ορτ: Ον

αϖεραγε, τηε �ρστ µοϖερ ωορκσ µορε ιν Τ−ΙΜΠ, Τ−Π, ανδ Τ−ΠΠλυσ τηαν ιν Τ−ΝΟ. Ιν

Τ−ΙΜΠ ανδ Τ−ΠΠλυσ, ιν ωηιχη τηε �ρστ µοϖερ�σ ε⁄ορτ ισ οβσερϖαβλε, τηε �ρστ µοϖερ

ωορκσ (µαργιναλλψ) σιγνι�χαντλψ µορε τηαν ιν Τ−ΝΟ.

Ρεσυλτ 5 Ε⁄εχτ οφ τηε �ρστ µοϖερ�σ ε⁄ορτ ον ηισ βεηαϖιορ ωηεν τηε �ρστ µοϖερ�σ

χοντριβυτιον ισ οβσερϖαβλε: Ιν χοντραστ το Ηψποτηεσισ 3, τηε �ρστ µοϖερ εξερτσ µορε

ε⁄ορτ ωηεν τηε σεχονδ µοϖερ χαν οβσερϖε τηε �ρστ µοϖερ�σ ε⁄ορτ ιν αδδιτιον το ηισ

χοντριβυτιον.

Ουρ ρεσυλτσ σηοω τηατ βοτη τηε �ρστ ανδ τηε σεχονδ µοϖερ�σ βεηαϖιορ σψστεµατ−

ιχαλλψ δι⁄ερ φροµ τηε πρεδιχτιονσ οφ τηε σελφ−ιντερεστ µοδελ ωηεν ινφορµατιϖε σιγναλσ

ον τηε �ρστ µοϖερ�σ περφορµανχε αρε αϖαιλαβλε. Τηε σεχονδ µοϖερ ποσιτιϖελψ ρεαχτσ

το ινφορµατιϖε σιγναλσ, εσπεχιαλλψ το τηε �ρστ µοϖερ�σ ε⁄ορτ, ανδ ον αϖεραγε βοτη

αγεντσ ωορκ µορε.

Φιναλλψ, ωε τεστ ωηετηερ τηε συµ οφ τηε �ρστ ανδ τηε σεχονδ µοϖερ�σ ε⁄ορτ ισ

ηιγηερ ωηεν ινφορµατιϖε σιγναλσ αρε αϖαιλαβλε. Ταβλε 6 πρεσεντσ τηε ρεσυλτσ οφ τωο

ρανδοµ ε⁄εχτσ πανελ ρεγρεσσιονσ ωηερε ωε ρεγρεσσ τηε συµ οφ τηε �ρστ ανδ τηε σεχονδ

µοϖερ�σ ε⁄ορτ ον τρεατµεντ δυµµιεσ. Ιν ονε οφ τηεσε ρεγρεσσιονσ (Τοβιτ) ωε χαπτυρε

τηατ τηε συµ οφ τηε �ρστ µοϖερ�σ ανδ τηε σεχονδ µοϖερ�σ ε⁄ορτ ισ (ωεακλψ) βετωεεν

0 ανδ 160. Ωηεν ινφορµατιϖε σιγναλσ αρε αϖαιλαβλε, τηε συµ οφ ε⁄ορτσ ισ ατ λεαστ ασ

ηιγη ασ ιν Τ−ΝΟ. Ωηεν τηε �ρστ µοϖερ�σ ε⁄ορτ ισ αϖαιλαβλε φορ τηε σεχονδ µοϖερ

(Τ−ΙΜΠ ορ Τ−ΠΠλυσ), τηε συµ οφ ε⁄ορτσ ισ εϖεν σιγνι�χαντλψ λαργερ.
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Ταβλε 6: Ρεγρεσσιον ρεσυλτσ ον τηε συµ οφ ε1 ανδ ε2

∆επενδεντ ϖαριαβλε: ε1 + ε2 ε1 + ε2

Πανελ (ρε) Πανελ (ρε)

(Τοβιτ)

Ιντερχεπτ +98.13 +98.13

(0.000) (0.000)

Τ−ΙΜΠ +10.61 +10.81

(0.082) (0.070)

Τ−Π +05.39 +05.49

(0.372) (0.353)

Τ−ΠΠλυσ +15.56 +15.53

(0.013) (0.011)

Νυµβερ οφ οβσερϖατιονσ 826 826

(Πσευδο) Ρ−σθυαρεδ 0.031

(ρε): ρανδοµ ε⁄εχτσ
Νυµβερσ ιν βραχκετσ ρεπρεσεντ τηε π−ϖαλυεσ οφ τηε χοε′χιεντσ.

5 Εξτενσιον

Σο φαρ, ωε ηαϖε φοχυσεδ ον τηε χασε οφ συβστιτυτεσ ιν ωηιχη ωΗ < 2 � ωΜ . Ιν τηισ

σεχτιον ωε ϖαρψ τηε στρατεγιχ σεττινγ ανδ χονσιδερ τηε οπποσιτε χασε, ι.ε. ωΗ > 2�ωΜ ,

το χηεχκ ωηετηερ τηε οβσερϖεδ βεηαϖιοραλ παττερνσ ρεµαιν υνχηανγεδ. Ωε ινϖιτεδ

130 αδδιτιοναλ ινδιϖιδυαλσ ιν ορδερ το ρυν ουρ φουρ τρεατµεντσ ωιτη ωΜ = 110 ινστεαδ

οφ ωΜ = 172. Αλλ οτηερ παραµετερσ οφ τηε γαµε ρεµαινεδ τηε σαµε. Ταβλε 7 πρεσεντσ

ουρ αδδιτιοναλ τρεατµεντσ τηατ αρε ινδιχατεδ βψ Ξ .

Ταβλε 7: Αδδιτιοναλ τρεατµεντσ

Τρεατµεντ Σιγναλ Νυµβερ οφ

παρτιχιπαντσ

Τ−ΝΟΞ νο σιγναλ 18

Τ−ΙΜΠΞ ε1 36

Τ−ΠΞ β1 38

Τ−ΠΠλυσΞ ε1 ανδ β1 38

Ασ δεσχριβεδ ιν Σεχτιον 3, ε⁄ορτσ αρε στρατεγιχ χοµπλεµεντσ ιν Τ−ΝΟΞ ανδ τηε
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σεχονδ µοϖερ�σ ρεαχτιον ισ πρεδιχτεδ το ινχρεασε ιν τηε σιγναλσ ιν Τ−ΙΜΠΞ , Τ−ΠΞ ,

ανδ Τ−ΠΠλυσΞ .10 Φυρτηερµορε, τηε σελφ−ιντερεστ µοδελ πρεδιχτσ τηε �ρστ µοϖερ το νοτ

ωορκ λεσσ βυτ µορε ωηεν ινφορµατιϖε σιγναλσ αρε αϖαιλαβλε. Σιµιλαρ το τηε χασε οφ

συβστιτυτεσ, νο τρεατµεντ δι⁄ερενχεσ αρε πρεδιχτεδ βετωεεν Τ−ΠΞ ανδ Τ−ΠΠλυσΞ .

Ταβλε 8 συµµαριζεσ τηε πρεδιχτιονσ οφ τηε σελφ−ιντερεστ µοδελ φορ ουρ αδδιτιοναλ

τρεατµεντσ.11

Ταβλε 8: Βεηαϖιοραλ πρεδιχτιονσ φορ τηε αδδιτιοναλ τρεατµεντσ

Τρεατµεντ ε1 ε2

Τ−ΝΟΞ 61.05 61.05

Τ−ΙΜΠΞ 77.61 46.40 + 0.240 ∗ ε1 = 65.02

Τ−ΠΞ 73.28 68.00 ιφ β1 = 1

44.00 ιφ β1 = 0

Τ−ΠΠλυσΞ 73.28 68.00 ιφ β1 = 1

44.00 ιφ β1 = 0

Τηε πρεδιχτιονσ αρε ρουνδεδ το τωο διγιτσ αφτερ τηε
δεχιµαλ ποιντ.

Βασεδ ον τηεσε πρεδιχτιονσ ωε φορµυλατε τηε φολλοωινγ ηψποτηεσεσ.

Ηψποτηεσισ 4 Ινχρεασινγ ρεαχτιον οφ τηε σεχονδ µοϖερ ωηεν σιγναλσ αρε ινφορµατιϖε

ανδ ωΜ = 110:

(ι) Ιν Τ−ΙΜΠΞ τηε σεχονδ µοϖερ εξερτσ µορε ε⁄ορτ τηε ηιγηερ τηε �ρστ µοϖερ�σ

ε⁄ορτ.

(ιι) Ιν Τ−ΠΞ ανδ Τ−ΠΠλυσΞ τηε σεχονδ µοϖερ εξερτσ µορε ε⁄ορτ ωηεν τηε �ρστ

µοϖερ�σ χοντριβυτιον ισ ηιγη τηαν ωηεν ιτ ισ λοω.

Ιφ ωΗ > 2 � ωΜ , τηε σεχονδ µοϖερ φαχεσ ηιγηερ ινχεντιϖεσ το ωορκ ωηεν τηε �ρστ

µοϖερ ωορκσ µορε ιν Τ−ΙΜΠΞ ορ ωηεν τηε �ρστ µοϖερ�σ χοντριβυτιον ισ ηιγη ρατηερ

τηαν λοω ιν Τ−ΠΞ , ανδ Τ−ΠΠλυσΞ .

Ηψποτηεσισ 5 Ηιγηερ ε⁄ορτ οφ τηε �ρστ µοϖερ ωηεν σιγναλσ αρε ινφορµατιϖε ανδ

ωΜ = 110: Τηε �ρστ µοϖερ�σ ε⁄ορτ ισ ηιγηερ ιν Τ−ΙΜΠΞ , Τ−ΠΞ , ανδ Τ−ΠΠλυσΞ

τηαν ιν Τ−ΝΟΞ .

10Ιν Τ−ΠΠλυσΞ τηε ινχρεασινγ ρεαχτιον ονλψ ρεφερσ το τηε �ρστ µοϖερ�σ χοντριβυτιον ανδ νοτ το

ηισ ε⁄ορτ. Τηισ ισ αναλογουσ το Τ−ΠΠλυσ.
11Τηε δεριϖατιον οφ τηεσε πρεδιχτιονσ ισ αναλογυε το τηε ονε ιν Σεχτιον 3.
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Τηε �ρστ µοϖερ αντιχιπατεσ τηατ τηε σεχονδ µοϖερ ποσιτιϖελψ ρεαχτσ το τηε ινφορ−

µατιϖε σιγναλσ ανδ τηατ ηε χαν, τηερεφορε, ινδυχε τηε σεχονδ µοϖερ το εξερτ α ηιγη

ε⁄ορτ βψ ωορκινγ α λοτ ιν Τ−ΙΜΠΞ , Τ−ΠΞ ανδ Τ−ΠΠλυσΞ .

Ηψποτηεσισ 6 Νο ε⁄εχτ οφ τηε αδδιτιοναλ ινφορµατιον ον τηε �ρστ µοϖερ�σ ε⁄ορτ

ωηεν τηε �ρστ µοϖερ�σ χοντριβυτιον ισ κνοων ανδ ωΜ = 110: Ε⁄ορτσ ιν Τ−ΠΞ ανδ

Τ−ΠΠλυσΞ αρε τηε σαµε.

Ταβλε 9 ρεπορτσ τηε αϖεραγε βεηαϖιορ οφ βοτη αγεντσ ιν ουρ αδδιτιοναλ τρεατµεντσ.

Ταβλε 9: Μεαν οφ ε1 ανδ ε2 ιν τηε αδδιτιοναλ τρεατµεντσ

Τρεατµεντ Μεαν οφ ε1 Μεαν οφ ε2 Νυµβερ οφ

οβσερϖατιονσ

Τ−ΝΟΞ 45.37 46.53 126

Τ−ΝΟΞ∗ 45.95 45.95 252

Τ−ΙΜΠΞ 62.27 59.67 252

Τ−ΠΞ 61.05 61.88 266

ιφ β1 = 1 61.60 199

ιφ β1 = 0 62.70 67

Τ−ΠΠλυσΞ 55.54 55.82 266

ιφ β1 = 1 62.94 155

ιφ β1 = 0 45.88 111

∗: ε1 ανδ ε2 αρε χονσιδερεδ.

Ιν Τ−ΝΟΞ αγεντσ ωορκ ον αϖεραγε αβουτ 46 ωηιχη ισ λοωερ τηαν τηε πρεδιχτιον οφ

61.05. Ασ ωΜ ισ σµαλλερ τηαν ιν τηε χασε οφ συβστιτυτεσ (ανδ ωΗ ανδ ωΛ ρεµαινεδ τηε

σαµε), αγεντσ µαψ βε λεσσ µοτιϖατεδ το εξερτ ε⁄ορτ. Σιµιλαρ το τηε πρεϖιουσ σεχτιον,

βοτη αγεντσ ωορκ µορε ον αϖεραγε ωηεν τηε σεχονδ µοϖερ ρεχειϖεσ αν ινφορµατιϖε

σιγναλ. Τηε σεχονδ µοϖερ�σ ρεαχτιον το τηε �ρστ µοϖερ�σ χοντριβυτιον δι⁄ερσ, ηοωεϖερ,

χοµπαρεδ το ωηατ ωε οβσερϖεδ φορ συβστιτυτεσ: Ιν Τ−ΠΞ τηε σεχονδ µοϖερ�σ αϖεραγε

ε⁄ορτ δοεσ νοτ ϖαρψ ωιτη τηε �ρστ µοϖερ�σ χοντριβυτιον, ωηιλε ιν Τ−ΠΠλυσΞ τηε σεχονδ

µοϖερ ωορκσ µορε ον αϖεραγε ωηεν τηε �ρστ µοϖερ�σ χοντριβυτιον ισ ηιγη τηαν ωηεν

ιτ ισ λοω.

Ιν ορδερ το αναλψζε βεηαϖιορ µορε χλοσελψ ανδ το τεστ ουρ ηψποτηεσεσ φορ τηε

αδδιτιοναλ τρεατµεντσ, ωε ρεγρεσσ τηε σεχονδ µοϖερ�σ ε⁄ορτ ον τρεατµεντ δυµµιεσ,

ιντεραχτιονσ οφ τρεατµεντσ δυµµιεσ ωιτη αϖαιλαβλε σιγναλσ, ανδ χοντρολ ϖαριαβλεσ ανδ
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ωε ρεγρεσσ τηε �ρστ µοϖερ�σ ε⁄ορτ ον τρεατµεντ δυµµιεσ, ανδ χοντρολ ϖαριαβλεσ.12

Ταβλε 10 ρεπορτσ ουρ ρεγρεσσιον ρεσυλτσ.

Ταβλε 10: Ρεγρεσσιον ρεσυλτσ ον ε2 ανδ ε1 ιν τηε αδδιτιοναλ τρεατµεντσ

∆επενδεντ ϖαριαβλε: ε2 ε2 ε1 ε1

Πανελ (ρε) Πανελ (ρε) Πανελ (ρε) Πανελ (ρε)

(Τοβιτ) (Τοβιτ)

Ιντερχεπτ +46.08 +44.79 +43.52 +42.56

(0.000) (0.000) (0.000) (0.000)

Τ−ΙΜΠΞ − 09.85 − 13.09 +17.23 +20.58

(0.083) (0.076) (0.001) (0.001)

Τ−ΠΞ +14.96 +20.67 +14.08 +19.09

(0.000) (0.000) (0.005) (0.003)

Τ−ΠΠλυσΞ − 12.64 − 14.38 +09.15 +11.75

(0.003) (0.010) (0.066) (0.064)

Τ−ΙΜΠΞ ∗ ε1 +00.37 +00.48

(0.000) (0.000)

Τ−ΠΠλυσΞ ∗ ε1 +00.30 +00.34

(0.000) (0.000)

Τ−ΠΞ ∗ β1 +00.41 +00.72

(0.863) (0.814)

Τ−ΠΠλυσΞ ∗ β1 +09.22 +11.08

(0.000) (0.000)

Σεξ +01.02 +02.73 +05.46 +06.48

(1 ιφ µαλε, 0 ελσε) (0.680) (0.421) (0.133) (0.162)

Νυµβερ οφ οβσερϖατιονσ 1036 1036 1036 1036

(Πσευδο) Ρ−σθυαρεδ 0.173 0.106

(ρε): ρανδοµ ε⁄εχτσ
Ιν αλλ φουρ ρεγρεσσιονσ ε1 ανδ ε2 ιν Τ−ΝΟ

Ξ αρε χονσιδερεδ.
Νυµβερσ ιν βραχκετσ ρεπρεσεντ τηε π−ϖαλυεσ οφ τηε χοε′χιεντσ.

Σιµιλαρ το τηε ρεσυλτσ φορ συβστιτυτεσ, τηε σεχονδ µοϖερ�σ ε⁄ορτ σιγνι�χαντλψ ιν−

χρεασεσ ιν τηε �ρστ µοϖερ�σ ε⁄ορτ ιν Τ−ΙΜΠΞ . Τηε χοε′χιεντ οφ τηε ιντεραχτιον

οφ Τ−ΙΜΠΞ ωιτη τηε �ρστ µοϖερ�σ ε⁄ορτ ισ εϖεν σιγνι�χαντλψ λαργερ τηαν τηε πρε−

διχτεδ 0.24. Ιν χοντραστ το Ηψποτηεσισ 4(ιι) ανδ τηε ρεσυλτσ φορ συβστιτυτεσ, τηε

12Ιν ουρ ρεγρεσσιονσ ωε αγαιν χονσιδερ τηε �ρστ ανδ τηε σεχονδ µοϖερ�σ δεχισιονσ ιν Τ−ΝΟΞ .

Ουρ ρεσυλτσ δο νοτ χηανγε θυαλιτατιϖελψ ιφ ωε σεπαρατελψ χονσιδερ τηε �ρστ µοϖερ�σ ανδ τηε σεχονδ

µοϖερ�σ δεχισιονσ ιν Τ−ΝΟΞ .
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σεχονδ µοϖερ�σ ε⁄ορτ δοεσ νοτ ινχρεασε ιν τηε �ρστ µοϖερ�σ χοντριβυτιον ιν Τ−ΠΞ .

Ιν Τ−ΠΠλυσΞ , ηοωεϖερ, τηε σεχονδ µοϖερ�σ ε⁄ορτ σιγνι�χαντλψ ινχρεασεσ ιν βοτη τηε

�ρστ µοϖερ�σ ε⁄ορτ ανδ ηισ χοντριβυτιον. Ηενχε, τηε �ρστ µοϖερ�σ ε⁄ορτ, αγαιν, ισ α

ϖερψ στιµυλατινγ σιγναλ φορ τηε σεχονδ µοϖερ, ωηιλε τηε �ρστ µοϖερ�σ χοντριβυτιον

σιγνι�χαντλψ α⁄εχτσ τηε σεχονδ µοϖερ�σ ε⁄ορτ ονλψ ιφ αλσο τηε �ρστ µοϖερ�σ ε⁄ορτ ισ

οβσερϖαβλε. Ωιτη ρεσπεχτ το τηε �ρστ µοϖερ�σ βεηαϖιορ ωε �νδ τηατ ιν αλλ τρεατ−

µεντσ ωιτη ινφορµατιϖε σιγναλσ τηε �ρστ µοϖερ ωορκσ σιγνι�χαντλψ µορε τηαν ιν ουρ

βενχηµαρκ τρεατµεντ. Ον τηε βασισ οφ τηεσε ρεσυλτσ, ωε ρεϕεχτ Ηψποτηεσισ 4(ιι) ωιτη

ρεσπεχτ το Τ−ΠΞ . Ωε αλσο ρεϕεχτ Ηψποτηεσισ 6 ρεγαρδινγ τηε σεχονδ µοϖερ�σ βεηαϖιορ

ασ ηισ ε⁄ορτ ιν Τ−ΠΠλυσΞ ϖαριεσ ωιτη τηε �ρστ µοϖερ�σ ε⁄ορτ ανδ χοντριβυτιον, ωηιλε

ιτ ισ ινδεπενδεντ οφ βοτη ιν Τ−ΠΞ . Ωε συµµαριζε ουρ �νδινγσ ιν τηε φολλοωινγ

ρεσυλτσ.

Ρεσυλτ 6 Ηιγηερ αϖεραγε ε⁄ορτ ιν Τ−ΙΜΠΞ , Τ−ΠΞ , ανδ Τ−ΠΠλυσΞ τηαν ιν Τ−ΝΟΞ :

Ον αϖεραγε τηε �ρστ ανδ τηε σεχονδ µοϖερ εξερτ µορε ε⁄ορτ ωηεν ινφορµατιϖε σιγναλσ

αρε αϖαιλαβλε.

Ρεσυλτ 7 Ινχρεασινγ ρεαχτιον οφ τηε σεχονδ µοϖερ ιν Τ−ΙΜΠΞ ανδ Τ−ΠΠλυσΞ : Ιν

λινε ωιτη Ηψποτηεσεσ 4(ι) ανδ 4(ιι), τηε σεχονδ µοϖερ ωορκσ µορε τηε ηιγηερ τηε

�ρστ µοϖερ�σ ε⁄ορτ ιν Τ−ΙΜΠΞ , ανδ τηε ηιγηερ τηε �ρστ µοϖερ�σ χοντριβυτιον ιν

Τ−ΠΠλυσΞ . Ιν Τ−ΠΞ τηε �ρστ µοϖερ�σ χοντριβυτιον δοεσ νοτ σιγνι�χαντλψ α⁄εχτ τηε

σεχονδ µοϖερ�σ ε⁄ορτ.

Ρεσυλτ 8 Ινχρεασινγ ε⁄εχτ οφ ινφορµατιϖε σιγναλσ ον τηε �ρστ µοϖερ�σ ε⁄ορτ ωηεν

ωΜ = 110: Τηε �ρστ µοϖερ ωορκσ σιγνι�χαντλψ µορε ιν Τ−ΙΜΠΞ , Τ−ΠΞ , ανδ Τ−

ΠΠλυσΞ τηαν ιν Τ−ΝΟΞ .

Ρεσυλτ 9 Ε⁄εχτ οφ τηε αδδιτιοναλ ινφορµατιον ον τηε �ρστ µοϖερ�σ ε⁄ορτ ον τηε

σεχονδ µοϖερ�σ βεηαϖιορ ωηεν ωΜ = 110: Ιν χοντραστ το Ηψποτηεσισ 6, τηε σεχονδ

µοϖερ�σ ε⁄ορτ ινχρεασεσ ιν τηε �ρστ µοϖερ�σ ε⁄ορτ ιν Τ−ΠΠλυσΞ . Τηε �ρστ µοϖερ�σ

βεηαϖιορ δοεσ, ηοωεϖερ, νοτ δι⁄ερ βετωεεν Τ−ΠΞ ανδ Τ−ΠΠλυσΞ .

6 ∆ισχυσσιον

Ουρ ρεσυλτσ οφ βοτη τηε χασε οφ συβστιτυτεσ ανδ χοµπλεµεντσ σηοω τηατ (ι) τηε σεχονδ

µοϖερ ποσιτιϖελψ ρεαχτσ το τηε �ρστ µοϖερ�σ ε⁄ορτ ωηεν τηε �ρστ µοϖερ�σ ε⁄ορτ ισ

τηε ονλψ αϖαιλαβλε σιγναλ, (ιι) τηε σεχονδ µοϖερ (ωεακλψ) ποσιτιϖελψ ρεαχτσ το τηε
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�ρστ µοϖερ�σ χοντριβυτιον ωηεν τηε �ρστ µοϖερ�σ χοντριβυτιον ισ τηε ονλψ αϖαιλαβλε

σιγναλ, (ιιι) τηε σεχονδ µοϖερ ποσιτιϖελψ ρεαχτσ το τηε �ρστ µοϖερ�σ ε⁄ορτ ωηεν τηε

�ρστ µοϖερ�σ ε⁄ορτ ανδ χοντριβυτιον αρε οβσερϖαβλε, ανδ (ιϖ) τηε �ρστ µοϖερ δοεσ

νοτ λεαν βαχκ βυτ (ωεακλψ) φορωαρδ ωηεν ινφορµατιϖε σιγναλσ αρε αϖαιλαβλε. Τηεσε

οβσερϖατιονσ αρε ινχονσιστεντ ωιτη τηε πρεδιχτιονσ οφ τηε σελφ−ιντερεστ µοδελ.

Ωε τρψ το εξπλαιν ουρ δατα ωιτη αν αλτερνατιϖε µοδελ τηατ χονσιδερσ ελεµεντσ

οφ σοχιαλ χοµπαρισον. Ιφ ινδιϖιδυαλσ χοµπαρε τηειρ παψο⁄ ωιτη τηειρ τεαµ µατε�σ

παψο⁄, τηε ινφορµατιον ον τηε τεαµ µατε�σ ε⁄ορτ βεχοµεσ χρυχιαλ � εϖεν ιφ τηε

ινφορµατιον ον τηε τεαµ µατε�σ χοντριβυτιον ισ γιϖεν. Τηισ ισ βεχαυσε τηε τεαµ

µατε ρεχειϖεσ τηε σαµε ωαγε ανδ ηισ παψο⁄ µαψ ονλψ δι⁄ερ δυε το α δι⁄ερεντ ε⁄ορτ

λεϖελ. Ιν ορδερ το µακε α χονϖερσε ασσυµπτιον το τηε σελφ−ιντερεστ µοδελ, ωε µακε

τηε εξτρεµε ασσυµπτιον τηατ αλλ ινδιϖιδυαλσ αρε ινεθυιτψ αϖερσε. Ωε χηοοσε τηε

ινεθυιτψ αϖερσιον µοδελ βψ Φεηρ ανδ Σχηµιδτ (1999) ασ ιτ ηασ προϖεδ το εξπλαιν

ηυµαν βεηαϖιορ ιν σεριεσ οφ δι⁄ερεντ γαµεσ ανδ ισ χοµπαραβλψ σιµπλε.13 Ινεθυιτψ

αϖερσε αγεντσ δισλικε παψο⁄ ινεθυαλιτιεσ ωηιχη ιµπλιεσ φορ ουρ τεαµ σεττινγ τηατ τηεψ

δισλικε ε⁄ορτ ινεθυαλιτιεσ (ασ τηεψ ρεχειϖε τηε σαµε ωαγε).

Ωε συµµαριζε τηε µαιν πρεδιχτιονσ οφ ουρ αλτερνατιϖε µοδελ ασ φολλοωσ:14 Ιφ ονλψ

τηε �ρστ µοϖερ�σ ε⁄ορτ ισ οβσερϖαβλε (ιν Τ−ΙΜΠ ανδ Τ−ΙΜΠΞ), τηε σεχονδ µοϖερ�σ

ε⁄ορτ ινχρεασεσ ιν τηε �ρστ µοϖερ�σ ε⁄ορτ15, ανδ τηε �ρστ µοϖερ ωορκσ ατ λεαστ ασ µυχη

ασ ιφ νο ινφορµατιϖε σιγναλ ισ αϖαιλαβλε (ιν Τ−ΝΟ ανδ Τ−ΝΟΞ). Ιφ ονλψ τηε �ρστ µοϖερ�σ

χοντριβυτιον ισ οβσερϖαβλε (ιν Τ−Π ανδ Τ−ΠΞ), τηε σεχονδ µοϖερ δοεσ νοτ ρεαχτ το

τηε �ρστ µοϖερ�σ χοντριβυτιον, ανδ τηε ρανγε οφ τηε �ρστ µοϖερ�σ εθυιλιβριυµ ε⁄ορτ ισ

αβουτ τηε σαµε ασ ιφ νο ινφορµατιϖε σιγναλ ισ αϖαιλαβλε. Ιφ τηε �ρστ µοϖερ�σ ε⁄ορτ ανδ

χοντριβυτιον αρε οβσερϖαβλε (ιν Τ−ΠΠλυσ ανδ Τ−ΠΠλυσΞ), τηε σεχονδ µοϖερ�σ ε⁄ορτ

ινχρεασεσ ιν τηε �ρστ µοϖερ�σ ε⁄ορτ ανδ ισ χονσταντ ιν τηε �ρστ µοϖερ�σ χοντριβυτιον16,

ανδ τηε �ρστ µοϖερ ωορκσ ατ λεαστ ασ µυχη ασ ιφ νο ινφορµατιϖε σιγναλ ισ αϖαιλαβλε.

Ιν Τ−ΙΜΠ ανδ Τ−ΙΜΠΞ ουρ οβσερϖατιονσ αρε ιν λινε ωιτη τηε πρεδιχτιονσ οφ τηε

13Βολτον ανδ Οχκενφελσ (2000) αλσο µοδελ ινεθυιτψ αϖερσιον. Φορ τηε σακε οφ σιµπλιχιτψ, ηοωεϖερ,

ωε φοχυσ ον τηε µοδελ οφ Φεηρ ανδ Σχηµιδτ (1999). Ιν παρτιχυλαρ, ωε ασσυµε τηατ τηε παραµετερ οφ

αϖερσιον το δισαδϖανταγεουσ ινεθυιτψ ισ � = 2 ανδ τηε παραµετερ οφ τηε αϖερσιον το αδϖανταγεουσ

ινεθυιτψ ισ � = 0:6. Τηεσε ϖαλυεσ ωερε αλσο ασσυµεδ ιν Φεηρ ετ αλ. (2007, 2008) φορ ινεθυιτψ αϖερσε

ινδιϖιδυαλσ ιν ορδερ το εξπλαιν οβσερϖεδ βεηαϖιορ.
14Τηε δεταιλεδ πρεδιχτιονσ ανδ τηειρ δεριϖατιονσ αρε ιν τηε αππενδιξ.
15Ιν Τ−ΙΜΠ τηε σεχονδ µοϖερ�σ ρεαχτιον δεχρεασεσ φορ ε1 <

66:24

3:256
� 20:34. Ψετ, µορε τηαν 95 %

οφ ουρ οβσερϖατιονσ οφ ε1 αρε στριχτλψ λαργερ τηαν 20.34.
16Ιν Τ−ΠΠλυσ (Τ−ΠΠλυσΞ) τηισ ηολδσ φορ ε1 >

68:8

3
� 22:93 ( 68

3
�22.67). Ψετ, µορε τηαν 99 %

(84 %) οφ ουρ οβσερϖατιονσ οφ ε1 αρε στριχτλψ λαργερ τηαν 22.93 (22.67).

22



µοδελ οφ ινεθυιτψ αϖερσιον φορ βοτη αγεντσ: Τηε χορρεσπονδινγ χοε′χιεντσ αρε σιγ−

νι�χαντλψ ποσιτιϖε (χφ. Ταβλεσ 4 ανδ 10).

Φορ Τ−Π ανδ Τ−ΠΞ τηε µοδελ οφ ινεθυιτψ αϖερσιον πρεδιχτσ τηατ τηε σεχονδ µοϖερ

χηοοσεσ τηε σαµε ε⁄ορτ ινδεπενδεντ οφ τηε �ρστ µοϖερ�σ χοντριβυτιον. Ιν εθυιλιβριυµ

τηε σεχονδ µοϖερ κνοωσ τηε �ρστ µοϖερ�σ ε⁄ορτ. Τηερεφορε, τηε σιγναλ β1 δοεσ νοτ

γιϖε ανψ αδδιτιοναλ ινφορµατιον ον τηε �ρστ µοϖερ�σ ε⁄ορτ. Ιφ τηε σεχονδ µοϖερ ισ

ινεθυιτψ αϖερσε, ηε τριεσ το µατχη τηε �ρστ µοϖερ�σ ε⁄ορτ ινδεπενδεντ οφ β1. Ιν Τ−Π

ωε οβσερϖε τηατ τηε σεχονδ µοϖερ εξερτσ µορε ε⁄ορτ ιφ τηε �ρστ µοϖερ�σ χοντριβυτιον

ισ ηιγη (χφ. Ταβλε 4), ωηιχη ισ ινχονσιστεντ ωιτη τηε πρεδιχτιονσ οφ τηε µοδελ οφ

ινεθυιτψ αϖερσιον ανδ αλσο τηε σελφ−ιντερεστ µοδελ. Ιν λινε ωιτη τηε µοδελ οφ ινεθυιτψ

αϖερσιον, ωε οβσερϖε ιν Τ−ΠΞ τηατ τηε σεχονδ µοϖερ δοεσ νοτ ρεαχτ το τηε �ρστ

µοϖερ�σ χοντριβυτιον (χφ. Ταβλε 10). Ασ τηε µοδελ οφ ινεθυιτψ αϖερσιον πρεδιχτσ

µυλτιπλε εθυιλιβρια φορ Τ−Π ανδ Τ−ΠΞ , ιτ ισ νοτ χλεαρ φορ τηε σεχονδ µοϖερ ωηιχη

ε⁄ορτ τηε �ρστ µοϖερ ηασ χηοσεν. Τηυσ, ονε µαψ αργυε τηατ τηε σιγναλ β1 προϖιδεσ

σοµε ινφορµατιον το τηε σεχονδ µοϖερ ωηετηερ τηε �ρστ µοϖερ�σ ε⁄ορτ ωασ ρατηερ

ηιγη ορ λοω. Ασ α λοω χοντριβυτιον ρατηερ ινδιχατεσ α λοω ε⁄ορτ, τηε σεχονδ µοϖερ�σ

βεηαϖιορ ιν Τ−Π χουλδ βε ιντερπρετεδ ασ α πυνισηµεντ οφ τηε �ρστ µοϖερ φορ χηοοσινγ

α λοω ε⁄ορτ. Ωηψ δοεσ τηισ αργυµεντ νοτ ηολδ φορ Τ−ΠΞ? Φιγυρε 2 ανδ Ταβλε 9 σηοω

τηατ τηε σεχονδ µοϖερ�σ ε⁄ορτ αφτερ α ηιγη χοντριβυτιον ισ σιµιλαρ ιν Τ−Π ασ ιν Τ−ΠΞ ,

βυτ αφτερ α λοω χοντριβυτιον τηε σεχονδ µοϖερ�σ ε⁄ορτ ισ λοωερ ιν Τ−Π τηαν ιν Τ−ΠΞ .

Ηενχε, τηερε σεεµσ το βε νο συχη πυνισηµεντ ιν Τ−ΠΞ . Τηισ οβσερϖατιον χουλδ

βε ρελατεδ το τηε φαχτ τηατ ιν Τ−ΠΞ τηε σεχονδ µοϖερ εξ αντε ηασ α σεχονδ µοϖερ

αδϖανταγε ιν τερµσ οφ µατεριαλ παψο⁄σ, ωηιλε ιν Τ−Π τηερε ισ α �ρστ µοϖερ αδϖανταγε.

Ιφ αν αγεντ φαχεσ αν εξ αντε αδϖανταγε, ηε µαψ ηεσιτατε το πυνιση ηισ τεαµ µατε

ιν αν ενϖιρονµεντ ωηερε ε⁄ορτ ισ υνοβσερϖαβλε ανδ ηε χαννοτ βε συρε ωηετηερ ηισ

τεαµ µατε, ινδεεδ, εξερτεδ α λοω ε⁄ορτ. Ρεγαρδινγ τηε �ρστ µοϖερ�σ βεηαϖιορ ιν Τ−Π

ανδ Τ−ΠΞ , ωε οβσερϖε τηατ ηε ωορκσ ατ λεαστ ασ µυχη ασ ιφ νο ινφορµατιϖε σιγναλ ισ

αϖαιλαβλε. Τηισ δοεσ νοτ χοντραδιχτ τηε πρεδιχτιον οφ τηε ινεθυιτψ αϖερσιον µοδελ.

Ιν Τ−ΠΠλυσ ανδ Τ−ΠΠλυσΞ τηε σεχονδ µοϖερ ποσιτιϖελψ ρεαχτσ το τηε �ρστ µοϖερ�σ

ε⁄ορτ, ανδ τηε �ρστ µοϖερ ωορκσ ατ λεαστ ασ µυχη ασ ιφ νο ινφορµατιϖε σιγναλ ισ

αϖαιλαβλε (χφ. Ταβλεσ 4 ανδ 10). Φυρτηερµορε, τηε σεχονδ µοϖερ δοεσ νοτ ρεαχτ το

τηε �ρστ µοϖερ�σ χοντριβυτιον ιν Τ−ΠΠλυσ. Τηεσε ρεσυλτσ αρε ιν λινε ωιτη τηε µοδελ

οφ ινεθυιτψ αϖερσιον. Ωε οβσερϖε τηατ τηε σεχονδ µοϖερ ποσιτιϖελψ ρεαχτσ το τηε �ρστ

µοϖερ�σ χοντριβυτιον ιν Τ−ΠΠλυσΞ , ωηιχη ισ ιν λινε ωιτη τηε σελφ−ιντερεστ µοδελ βυτ

ονλψ ιν λινε ωιτη τηε ινεθυιτψ αϖερσιον µοδελ φορ α σµαλλ ρανγε οφ ε1 (χφ. Φοοτνοτε

16).
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Οϖεραλλ, ουρ µοδελ οφ ινεθυιτψ αϖερσιον ωιτη τηε εξτρεµε ασσυµπτιον τηατ αλλ

ινδιϖιδυαλσ αρε ινεθυιτψ αϖερσε λαργελψ εξπλαινσ ουρ ρεσυλτσ. Νεϖερτηελεσσ, ουρ σιµπλε

παραµετεριζατιον, ιν παρτιχυλαρ τηατ αλλ ινδιϖιδυαλσ αρε ινεθυιτψ αϖερσε ωιτη τηε χορ−

ρεσπονδινγ παραµετερσ, δοεσ νοτ χοµπλψ ωιτη αλλ οφ ουρ οβσερϖατιονσ. Τηισ χονχερνσ

εσπεχιαλλψ τηε εξαχτ ποιντ πρεδιχτιονσ. Ανψηοω, ουρ ρεσυλτσ συγγεστ τηατ σοχιαλ χοµ−

παρισον πλαψσ α χρυχιαλ ρολε ιν τεαµσ ανδ σηαπεσ βεηαϖιορ: Τηε ρεαχτιον το σιγναλσ

µαψ βε χοντραρψ το τηε πρεδιχτιονσ οφ τηε σελφ−ιντερεστ µοδελ ανδ σιγναλσ τηατ αρε

πρεδιχτεδ το ηαϖε νο ε⁄εχτ µαψ, ιν φαχτ, βε ιν�υεντιαλ.

7 Χονχλυσιον

Ωε ηαϖε πρεσεντεδ αν εξπεριµενταλ στυδψ ον τεαµσ ιν ωηιχη ονε τεαµ µεµβερ ρε−

χειϖεσ α σιγναλ ον ηισ χολλεαγυε�σ περφορµανχε πριορ το ηισ οων δεχισιον. Ωε οβσερϖε

τηατ βοτη τηε �ρστ ανδ τηε σεχονδ µοϖερ τενδ το ωορκ µορε ον αϖεραγε ωηεν ινφορ−

µατιϖε σιγναλσ αρε αϖαιλαβλε. Τηισ ηολδσ ωηεν αγεντσ� χοντριβυτιονσ αρε συβστιτυτεσ

ασ ωελλ ασ ωηεν τηεψ αρε χοµπλεµεντσ. Εσπεχιαλλψ τηε �ρστ µοϖερ�σ ε⁄ορτ σεεµσ το

βε α στιµυλατινγ σιγναλ: Ιφ τηε �ρστ µοϖερ�σ ε⁄ορτ ισ οβσερϖαβλε, τηε σεχονδ µοϖερ

ωορκσ µορε τηε ηιγηερ τηε �ρστ µοϖερ�σ ε⁄ορτ, ανδ τηε �ρστ µοϖερ χηοοσεσ α ηιγηερ

ε⁄ορτ. Τηισ οβσερϖατιον ισ ινδεπενδεντ οφ ωηετηερ τηε �ρστ µοϖερ�σ χοντριβυτιον ισ

οβσερϖαβλε ορ νοτ. Ιφ τηε �ρστ µοϖερ�σ χοντριβυτιον ισ τηε ονλψ οβσερϖαβλε σιγναλ, τηε

σεχονδ µοϖερ ρεαχτσ (ωεακλψ) ποσιτιϖελψ ανδ τηε �ρστ µοϖερ ωορκσ (ωεακλψ) µορε.

Ιφ τηε �ρστ µοϖερ�σ χοντριβυτιον ισ οβσερϖαβλε ιν αδδιτιον το ηισ ε⁄ορτ, τηε σεχονδ

µοϖερ δοεσ νοτ ρεαχτ το τηε χοντριβυτιον ιν τηε χασε οφ συβστιτυτεσ ανδ ποσιτιϖελψ

ρεαχτσ το ιτ ιν τηε χασε οφ χοµπλεµεντσ.

Οϖεραλλ, τηε σελφ−ιντερεστ µοδελ φαιλσ το χαπτυρε ουρ ρεσυλτσ, ωηιλε α σιµπλε µοδελ

οφ ινεθυιτψ αϖερσιον λαργελψ εξπλαινσ βεηαϖιορ. Τηερεφορε, ωε χονχλυδε τηατ σοχιαλ

χοµπαρισον πλαψσ α χρυχιαλ ρολε ιν τεαµσ ιν ωηιχη ινφορµατιϖε σιγναλσ αρε αϖαιλαβλε.

Αγεντσ� βεηαϖιορ µαψ νοτ ονλψ βε χοντραρψ το τηε πρεδιχτιονσ οφ τηε σελφ−ιντερεστ

µοδελ βυτ αλσο σιγναλσ τηατ αρε πρεδιχτεδ το ηαϖε νο ε⁄εχτ µαψ, ιν φαχτ, βε ιν�υεντιαλ

ανδ σιγναλσ τηατ αρε πρεδιχτεδ το ηαϖε αν ε⁄εχτ µαψ βε ρεδυνδαντ.

Ουρ ρεσυλτσ συγγεστ τηατ σιγναλσ ιν τεαµσ µαψ ρεδυχε φρεε−ριδινγ ιρρεσπεχτιϖε οφ

τηε στρατεγιχ χοντεξτ. Προϖιδινγ ινφορµατιον ον ε⁄ορτ σεεµσ το βε αν ε⁄εχτιϖε ωαψ

το αχηιεϖε µορε ε′χιεντ ουτχοµεσ. Ωιτη ρεγαρδ το τηε οργανιζατιον οφ τεαµσ ιτ

σεεµσ παρτιχυλαρλψ προµισινγ ιφ αγεντσ ωορκ χλοσελψ τογετηερ: Ιν τηισ χασε τηεψ αρε

νοτ ονλψ αβλε το οβσερϖε τηειρ χολλεαγυεσ� ε⁄ορτσ βυτ αλσο σοχιαλ χοµπαρισον µαψ βε

ϖερψ προνουνχεδ.

24



Αππενδιξ

Εξπεριµενταλ σεσσιονσ

Τηε ορδερ οφ εϖεντσ δυρινγ εαχη εξπεριµενταλ σεσσιον ωασ τηε φολλοωινγ: Ινδιϖιδυαλσ

ωερε ωελχοµεδ ανδ ρανδοµλψ ασσιγνεδ α χυβιχλε ιν τηε λαβορατορψ ωηερε τηεψ τοοκ

τηειρ δεχισιονσ ιν χοµπλετε ανονψµιτψ φροµ τηε οτηερ παρτιχιπαντσ. Τηε ρανδοµ

αλλοχατιον το α χυβιχλε αλσο δετερµινεδ αν ινδιϖιδυαλ�σ ρολε. Ινδιϖιδυαλσ ωερε ηανδεδ

ουτ τηε ινστρυχτιονσ φορ τηε εξπεριµεντ ανδ τηε εξπεριµεντερ ρεαδ τηεµ αλουδ.

Τηεν, ινδιϖιδυαλσ ηαδ τιµε το γο τηρουγη τηε ινστρυχτιονσ ον τηειρ οων ανδ ασκ

θυεστιονσ. Αφτερ αλλ ινδιϖιδυαλσ ηαδ �νισηεδ γοινγ τηρουγη τηε ινστρυχτιονσ ανδ αλλ

ρεµαινινγ θυεστιονσ ηαδ βεεν ανσωερεδ, ωε προχεεδεδ το τηε δεχισιον σταγεσ. Αφτερ

τηε 14τη ρουνδ ινδιϖιδυαλσ ωερε ινφορµεδ αβουτ ωηιχη οφ τηε 14 ρουνδσ ισ παιδ φορ

αλλ παρτιχιπαντσ οφ τηε σεσσιον, ανδ τηειρ παψµεντ. Ωε �νισηεδ εαχη εξπεριµενταλ

σεσσιον βψ λεττινγ ινδιϖιδυαλσ ανσωερ α θυεστιονναιρε τηατ ασκεδ φορ δεµογραπηιχ

χηαραχτεριστιχσ συχη ασ σεξ, συβϕεχτ οφ στυδιεσ, ανδ ρισκ αττιτυδε. Ωε αλσο ασκεδ

ινδιϖιδυαλσ το δεσχριβε ηοω τηεψ χαµε το τηειρ δεχισιονσ.

Ινστρυχτιονσ, τηε προγραµ, ανδ τηε θυεστιονναιρε ωερε οριγιναλλψ ωριττεν ιν Γερ−

µαν. Ιν τηε φολλοωινγ ωε γιϖε α τρανσλατιον οφ τηε ινστρυχτιονσ φορ Τ−ΝΟ. Ινστρυχτιονσ

φορ τηε οτηερ τρεατµεντσ αρε ασ σιµιλαρ το Τ−ΝΟ ασ ποσσιβλε, ωιτη τηε δι⁄ερενχε βεινγ

τηε δεσχριπτιον οφ ωηατ ωορκερ 2 κνοωσ ωηεν χηοοσινγ ηισ ε⁄ορτ.

Τρανσλατεδ ινστρυχτιονσ φορ Τ−ΝΟ

Ινστρυχτιονσ φορ τηε εξπεριµεντ

Ωελχοµε το τηισ εξπεριµεντ. Ψου ανδ τηε οτηερ παρτιχιπαντσ αρε ασκεδ το µακε

δεχισιονσ. Ατ τηε ενδ οφ τηε εξπεριµεντ ψου ωιλλ βε παιδ ιν χαση αχχορδινγ

το ψουρ δεχισιονσ ανδ τηε δεχισιονσ οφ τηε οτηερ παρτιχιπαντσ. Ιν αδδιτιον,

ψου ρεχειϖε α παψµεντ οφ 7 Ευρο.

∆υρινγ τηε ωηολε εξπεριµεντ ψου αρε νοτ αλλοωεδ το σπεακ το οτηερ παρτιχιπαντσ,

το υσε χελλ πηονεσ, ορ το σταρτ ανψ οτηερ προγραµ ον τηε χοµπυτερ. Ιφ ψου ηαϖε

θυεστιονσ, πλεασε ραισε ψουρ ηανδ. Αν ινστρυχτορ οφ τηε εξπεριµεντ ωιλλ τηεν χοµε

το ψουρ σεατ το ανσωερ ψουρ θυεστιονσ.

∆υρινγ τηε εξπεριµεντ ωε δο νοτ σπεακ οφ Ευροσ βυτ οφ ποιντσ. Ψουρ παψµεντ ωιλλ

ινιτιαλλψ βε χαλχυλατεδ ιν ποιντσ. Ατ τηε ενδ οφ τηε εξπεριµεντ ψουρ αχτυαλ αµουντ

οφ τοταλ ποιντσ ωιλλ βε χονϖερτεδ ιντο Ευρο αχχορδινγ το τηε φολλοωινγ εξχηανγε ρατε:
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1 ποιντ = 4 Ευροχεντσ.

Ιν τηισ εξπεριµεντ τηερε αρε παρτιχιπαντσ ιν τηε ρολε οφ ωορκερ 1 ανδ παρτιχιπαντσ

ιν τηε ρολε οφ ωορκερ 2. Ονε ωορκερ 1 ανδ ονε ωορκερ 2 φορµ α ωορκ τεαµ. Ωηεν

τηε εξπεριµεντ σταρτσ, ψου ωιλλ βε ινφορµεδ ωηετηερ ψου αρε ιν τηε ρολε οφ ωορκερ

1 ορ ωορκερ 2. Τηε ρολεσ αρε ασσιγνεδ ρανδοµλψ. ∆υρινγ τηε ωηολε εξπεριµεντ τηατ

χονσιστσ οφ 14 ρουνδσ ψου κεεπ ψουρ ασσιγνεδ ρολε. Ατ τηε βεγιννινγ οφ εαχη ρουνδ

ιτ ωιλλ βε δετερµινεδ ανεω ωηιχη ωορκερσ 1 ανδ ωορκερσ 2 φορµ ωορκ γρουπσ. Τηισ

ασσιγνµεντ ισ ρανδοµ ανδ ανονψµουσ. Νο παρτιχιπαντ ρεχειϖεσ ανψ ινφορµατιον

αβουτ τηε ιδεντιτψ οφ ηισ µατχηεδ παρτιχιπαντσ.

Τηε προχεδυρε οφ α ρουνδ

Ονε ωορκερ 1 ανδ ονε ωορκερ 2 φορµ α ωορκ γρουπ τηατ ηασ το χοµπλετε τωο τασκσ.

Εαχη τασκ χαν βε χοµπλετεδ ωιτη ειτηερ ηιγη ορ λοω θυαλιτψ. Ωηετηερ α τασκ ισ

χοµπλετεδ ωιτη ηιγη ορ λοω θυαλιτψ, δεπενδσ ον α ωορκερ�σ ε⁄ορτ ανδ ον χηανχε.

Ατ τηε βεγιννινγ οφ εαχη ρουνδ ωορκερ 1 χηοοσεσ ηισ ε⁄ορτ Ξ1. Ξ1 ισ

αν ιντεγερ βετωεεν 0 ανδ 80 (ινχλυδινγ 0 ανδ 80). Τηε ε⁄ορτ χηοσεν βψ ωορκερ 1

ιν�υενχεσ τηε προβαβιλιτψ τηατ τηε �ρστ τασκ ισ χοµπλετεδ ωιτη ηιγη θυαλιτψ ανδ,

τηερεφορε, αλσο τηε προβαβιλιτψ τηατ τηε �ρστ τασκ ισ χοµπλετεδ ωιτη λοω θυαλιτψ. Τηε

προβαβιλιτψ τηατ τηε �ρστ τασκ ισ χοµπλετεδ ωιτη ηιγη θυαλιτψ ισ (10 + ε⁄ορτ οφ ωορκερ

1) περχεντ. Αχχορδινγλψ, τηε προβαβιλιτψ τηατ τηε �ρστ τασκ ισ χοµπλετεδ ωιτη λοω

θυαλιτψ ισ (90 � ε⁄ορτ οφ ωορκερ 1) περχεντ.

Προβαβιλιτψ τηατ τηε �ρστ τασκ ισ χοµπλετεδ ωιτη ηιγη θυαλιτψ

= (10 +Ξ1) %

Προβαβιλιτψ τηατ τηε �ρστ τασκ ισ χοµπλετεδ ωιτη λοω θυαλιτψ

= (90�Ξ1) %

Εξαµπλεσ: Ιφ ωορκερ 1 χηοοσεσ αν ε⁄ορτ οφ 17, τηε �ρστ τασκ ωιλλ βε χοµπλετεδ ωιτη

ηιγη θυαλιτψ ωιτη α προβαβιλιτψ οφ 27 % ανδ ωιτη λοω θυαλιτψ ωιτη α προβαβιλιτψ οφ 73

%. Ιφ ωορκερ 1 χηοοσεσ αν ε⁄ορτ οφ 72, τηε �ρστ τασκ ισ χοµπλετεδ ωιτη ηιγη θυαλιτψ

ωιτη α προβαβιλιτψ οφ 82 % ανδ ωιτη λοω θυαλιτψ ωιτη α προβαβιλιτψ οφ 18 %.

Αφτερ ωορκερ 1 ηασ χηοσεν ηισ ε⁄ορτ Ξ1, ωορκερ 2 χηοοσεσ ηισ ε⁄ορτ Ξ2.

Ατ τηισ ποιντ ιν τιµε ωορκερ 2 ισ νειτηερ ινφορµεδ αβουτ τηε ε⁄ορτ οφ ωορκερ 1 νορ

αβουτ τηε θυαλιτψ ωιτη ωηιχη �ρστ τασκ ισ χοµπλετεδ. Ωορκερ 2 χηοοσεσ αν ε⁄ορτ τηατ

ισ αν ιντεγερ βετωεεν 0 ανδ 80 (ινχλυδινγ 0 ανδ 80). Τηε χηοσεν ε⁄ορτ οφ ωορκερ 2

ιν�υενχεσ τηε προβαβιλιτψ τηατ τηε σεχονδ τασκ ισ χοµπλετεδ ωιτη ηιγη θυαλιτψ ανδ,
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τηερεφορε, αλσο τηε προβαβιλιτψ τηατ τηε σεχονδ τασκ ισ χοµπλετεδ ωιτη λοω θυαλιτψ.

Τηε προβαβιλιτψ τηατ τηε σεχονδ τασκ ισ χοµπλετεδ ωιτη ηιγη θυαλιτψ ισ (10 + ε⁄ορτ

οφ ωορκερ 2) περχεντ. Αχχορδινγλψ, τηε προβαβιλιτψ τηατ τηε σεχονδ τασκ ισ χοµπλετεδ

ωιτη λοω θυαλιτψ ισ (90 − ε⁄ορτ οφ ωορκερ 2) περχεντ.

Προβαβιλιτψ τηατ τηε σεχονδ τασκ ισ χοµπλετεδ ωιτη ηιγη θυαλιτψ

= (10 +Ξ2) %

Προβαβιλιτψ τηατ τηε σεχονδ τασκ ισ χοµπλετεδ ωιτη λοω θυαλιτψ

= (90�Ξ2) %

Εξαµπλεσ: Ιφ ωορκερ 2 χηοοσεσ αν ε⁄ορτ οφ 17, τηε σεχονδ τασκ ωιλλ βε χοµπλετεδ

ωιτη ηιγη θυαλιτψ ωιτη α προβαβιλιτψ οφ 27 % ανδ ωιτη λοω θυαλιτψ ωιτη α προβαβιλιτψ

οφ 73 %. Ιφ ωορκερ 2 χηοοσεσ αν ε⁄ορτ οφ 72, τηε σεχονδ τασκ ισ χοµπλετεδ ωιτη ηιγη

θυαλιτψ ωιτη α προβαβιλιτψ οφ 82 % ανδ ωιτη λοω θυαλιτψ ωιτη α προβαβιλιτψ οφ 18 %.

Τηε ωαγε οφ τηε ωορκερσ ιν α ωορκ γρουπ δεπενδσ ον τηε θυαλιτψ ωιτη ωηιχη βοτη

τασκσ αρε χοµπλετεδ:

� Ιφ βοτη τασκσ αρε χοµπλετεδ ωιτη ηιγη θυαλιτψ, βοτη ωορκερσ ρεχειϖε α ωαγε οφ

280 ποιντσ εαχη.

� Ιφ ονε τασκ ισ χοµπλετεδ ωιτη ηιγη ανδ τηε οτηερ τασκ ωιτη λοω θυαλιτψ, βοτη

ωορκερσ ρεχειϖε α ωαγε οφ 172 ποιντσ εαχη.

� Ιφ βοτη τασκσ αρε χοµπλετεδ ωιτη λοω θυαλιτψ, βοτη ωορκερσ ρεχειϖε α ωαγε οφ

0 ποιντσ εαχη.

Εαχη ωορκερ βεαρσ τηε ε⁄ορτ χοστσ φορ ηισ ε⁄ορτ. Τηε ε⁄ορτ χοστσ δεπενδ ον

τηε χηοσεν ε⁄ορτ οφ α ωορκερ ανδ αρε τηε φολλοωινγ:

ε⁄ορτ χοστσ = (χηοσεν ε⁄ορτ οφ α ωορκερ)2

80

Τηε ταβλε ατ τηε ενδ οφ τηε ινστρυχτιονσ ινδιχατεσ τηε ε⁄ορτ χοστσ φορ αλλ ποσσιβλε

ε⁄ορτ λεϖελσ οφ α ωορκερ.

Α ωορκερ�σ παψο⁄ φορ α ρουνδ ισ ηισ ωαγε µινυσ ηισ ε⁄ορτ χοστσ:

προ�τ οφ α ρουνδ = ωαγε − ε⁄ορτ χοστσ
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Αφτερ ωορκερ 1 ανδ ωορκερ 2 ηαϖε χηοσεν τηειρ ε⁄ορτ, βοτη ωορκερσ αρε ινφορµεδ

αβουτ τηε ε⁄ορτ οφ βοτη ωορκερσ ιν τηειρ ωορκ γρουπ, τηε θυαλιτψ ωιτη ωηιχη τηε �ρστ

ανδ τηε σεχονδ τασκ αρε χοµπλετεδ, ανδ εαχη ωορκερ�σ προ�τσ ιν τηισ ρουνδ.

Νυµβερ οφ ρουνδσ

Τηε εξπεριµεντ χονσιστσ οφ 14 ρεπετιτιονσ οφ τηε προχεδυρε δεσχριβεδ αβοϖε. Τηισ

ρεσυλτσ ιν 14 χονστιτυεντ ρουνδσ. Εαχη παρτιχιπαντ κεεπσ ηισ ρολε ασ ωορκερ 1 ορ

ωορκερ 2 τηρουγηουτ αλλ 14 ρουνδσ. Ατ τηε βεγιννινγ οφ εαχη ρουνδ τηε ωορκ γρουπσ

αρε ρανδοµλψ φορµεδ ανεω. Νο ωορκερ ισ αβλε το διστινγυιση ωηετηερ ηισ µατχηεδ

ωορκερ ηασ αλρεαδψ βεεν ασσιγνεδ το ηιµ ιν ονε οφ τηε πρεχεδινγ ρουνδσ ορ νοτ.

Παψµεντ οφ τηε εξπεριµεντ

Ιν τηισ εξπεριµεντ νοτ αλλ 14 ρουνδσ αρε παιδ. Ονε ρανδοµλψ δετερµινεδ ρουνδ

ισ παιδ φορ αλλ παρτιχιπαντσ. Ωηιχη οφ τηε 14 ρουνδσ ισ παιδ ουτ, ωιλλ βε τολδ αλλ

παρτιχιπαντσ αφτερ τηε 14τη ρουνδ. Αλλ παρτιχιπαντσ αρε παιδ αχχορδινγ το τηειρ προ�τ

ιν τηε ρανδοµλψ χηοσεν ρουνδ. Ιφ ψουρ προ�τ ιν τηισ ρουνδ ισ νεγατιϖε, τηισ αµουντ

ισ δεδυχτεδ φροµ τηε 7 Ευρο µεντιονεδ ατ τηε βεγιννινγ οφ τηε ινστρυχτιονσ.
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Ταβλε οφ χοστσ

Ε⁄ορτ Ε⁄ορτ χοστσ

0 0.00

1 0.01

2 0.05

3 0.11

4 0.20

5 0.31

6 0.45

7 0.61

8 0.80

9 1.01

10 1.25

11 1.51

12 1.80

13 2.11

14 2.45

15 2.81

16 3.20

17 3.61

18 4.05

19 4.51

20 5.00

21 5.51

22 6.05

23 6.61

24 7.20

25 7.81

26 8.45

27 9.11

28 9.80

29 10.51

30 11.25

31 12.01

32 12.80

33 13.61

34 14.45

35 15.31

36 16.20

37 17.11

38 18.05

39 19.01

Ε⁄ορτ Ε⁄ορτ χοστσ

40 20.00

41 21.01

42 22.05

43 23.11

44 24.20

45 25.31

46 26.45

47 27.61

48 28.80

49 30.01

50 31.25

51 32.51

52 33.80

53 35.11

54 36.45

55 37.81

56 39.20

57 40.61

58 42.05

59 43.51

60 45.00

61 46.51

62 48.05

63 49.61

64 51.20

65 52.81

66 54.45

67 56.11

68 57.80

69 59.51

70 61.25

71 63.01

72 64.80

73 66.61

74 68.45

75 70.31

76 72.20

77 74.11

78 76.05

79 78.01

80 80.00

Νυµβερσ αρε ρουνδεδ το τωο διγιτσ αφτερ τηε δεχιµαλ ποιντ.

Βεηαϖιοραλ πρεδιχτιονσ οφ α µοδελ οφ ινεθυιτψ αϖερσιον

Ιν τηισ συβσεχτιον ωε δεριϖε βεηαϖιοραλ πρεδιχτιονσ φορ ουρ τρεατµεντσ φροµ α µοδελ

οφ ινεθυιτψ αϖερσιον. Ιν χοντραστ το τηε σελφ−ιντερεστ µοδελ, αν ινδιϖιδυαλ�σ υτιλιτψ

δοεσ νο λονγερ ονλψ δεπενδ ον ηισ οων µατεριαλ παψο⁄ βυτ αλσο ον οτηερ ινδιϖιδυαλσ�

παψο⁄σ. Ωε υσε τηε ασσυµπτιονσ φροµ τηε µοδελ βψ Φεηρ ανδ Σχηµιδτ (1999) ιν ορδερ

το χαπτυρε τηε νοτιον οφ ινεθυιτψ αϖερσιον. Φορ τηε χασε οφ τωο πλαψερσ, ινδιϖιδυαλ

ι�σ υτιλιτψ φυνχτιον ισ

υι (ει; εϕ) =

�ι (ει; εϕ)� � �µαξ φ�ϕ (ει; εϕ)� �ι (ει; εϕ) ; 0γ � � �µαξ φ�ι (ει; εϕ)� �ϕ (ει; εϕ) ; 0γ,
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ωηερε �ϕ (ει; εϕ) δενοτεσ ινδιϖιδυαλ ϕ�σ παψο⁄ γιϖεν ηε χηοοσεσ εϕ ανδ ινδιϖιδυαλ

ι 6= ϕ χηοοσεσ ει. � µεασυρεσ τηε αϖερσιον το δισαδϖανταγεουσ ινεθυιτψ, ανδ � τηε

αϖερσιον το αδϖανταγεουσ ινεθυιτψ.

Ιν σταρκ χοντραστ το τηε σελφ−ιντερεστ µοδελ, ιν ωηιχη � = � = 0 φορ αλλ ινδιϖιδυαλσ,

ωε νοω ασσυµε � = 2 ανδ � = 0:6 φορ αλλ ινδιϖιδυαλσ. Φυρτηερµορε, ωε ασσυµε τηατ

ινδιϖιδυαλσ µαξιµιζε τηειρ εξπεχτεδ υτιλιτψ.

Τηε χασε οφ συβστιτυτεσ

Τ−ΝΟ

Ιφ τηερε ισ νο σιγναλ ατ αλλ, ωε σολϖε φορ τηε Ναση εθυιλιβριυµ οφ τηε σιµυλτανεουσ

µοϖε γαµε. Ιν α �ρστ στεπ, ωε δεριϖε αγεντ ι�σ ρεαχτιον το ανψ ποσσιβλε στρατεγψ οφ

αγεντ ϕ 6= ι, ωιτη ι; ϕ 2 φ1; 2γ.

Γιϖεν αγεντ ϕ χηοοσεσ εϕ =
165:6
3:14

� 52:74, τηε υνιθυε πρεδιχτιον οφ τηε σελφ−

ιντερεστ µοδελ, αγεντ ι χηοοσεσ ει = 66:24 � 0:256 � εϕ =
165:6
3:14

ασ α βεστ ρεσπονσε.

Τηισ µαξιµιζεσ αγεντ ι�σ εξπεχτεδ παψο⁄, ωηιχη ισ σηοων ιν τηε δεριϖατιον οφ τηε

πρεδιχτιονσ οφ τηε σελφ−ιντερεστ µοδελ, ανδ µινιµιζεσ τηε ινεθυιτψ οφ παψο⁄σ ασ ει =

εϕ. Τηυσ, ιτ µαξιµιζεσ αγεντ ι�σ εξπεχτεδ υτιλιτψ.

Γιϖεν αγεντ ϕ χηοοσεσ εϕ >
165:6
3:14

, ει = 66:24 � 0:256 � εϕ µαξιµιζεσ αγεντ ι�σ

εξπεχτεδ παψο⁄ βυτ νοτ ηισ υτιλιτψ ασ ιτ γενερατεσ αδϖανταγεουσ ινεθυιτψ σινχε 66:24�

0:256 � εϕ <
165:6
3:14

φορ εϕ >
165:6
3:14

. Τηερεφορε, αγεντ ι�σ οπτιµαλ ρεσπονσε ισ λαργερ τηαν

66:24 � 0:256 � εϕ (βυτ σµαλλερ τηαν εϕ). Ιτ εθυαλσ µιν
ν

66:24�0:256�εϕ
1��

; εϕ

ο

, ωηιχη

ισ δεριϖεδ βψ µαξιµιζινγ αγεντ ι�σ εξπεχτεδ υτιλιτψ φορ τηε χασε οφ αδϖανταγεουσ

ινεθυιτψ ωιτη ρεσπεχτ το ει. Φορ � = 0:6 ανδ εϕ � 80 τηε µινιµυµ ισ εθυαλ το εϕ.

Γιϖεν αγεντ ϕ χηοοσεσ εϕ <
165:6
3:14

, αγαιν ει = 66:24�0:256 �εϕ µαξιµιζεσ αγεντ ι�σ

εξπεχτεδ παψο⁄ βυτ νοτ ηισ εξπεχτεδ υτιλιτψ ασ ιτ γενερατεσ δισαδϖανταγεουσ ινεθυιτψ

σινχε 66:24 � 0:256 � εϕ >
165:6
3:14

φορ εϕ <
165:6
3:14

. Τηερεφορε, αγεντ ι�σ οπτιµαλ ρεσπονσε

ισ σµαλλερ (βυτ λαργερ τηαν εϕ). Ιτ εθυαλσ µαξ
ν

66:24�0:256�εϕ
1+�

; εϕ

ο

, ωηιχη ισ δεριϖεδ

αναλογουσλψ το αβοϖε. Φορ � = 2 τηε µαξιµυµ ισ εθυαλ το εϕ ιφ ανδ ονλψ ιφ εϕ �
66:24
3:256

.

Ωε συµµαριζε αγεντ ι�σ ρεαχτιον φυνχτιον φορ � = 2, � = 0:6 ανδ εϕ 2 [0; 80] ασ

φολλοωσ

ε�ι (εϕ) =

(

εϕ ιφ εϕ �
66:24
3:256

66:24�0:256�εϕ
3

ιφ εϕ <
66:24
3:256

.

Ιν α νεξτ στεπ, ωε σολϖε φορ τηε ιντερσεχτιονσ οφ βοτη αγεντσ� ρεαχτιον φυνχτιονσ.
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Ιφ εϕ 2
�

66:24
3:256

; 80
�

, αλλ στρατεγψ χοµβινατιονσ ωιτη εϕ = ει 2
�

66:24
3:256

; 80
�

αρε ιντερ−

σεχτιονσ.

Ιφ εϕ 2
�

0; 66:24
3:256

�

, τηερε ισ νο ιντερσεχτιον. Το σεε τηισ, συπποσε, το τηε χοντραρψ,

τηερε ωασ ατ λεαστ ονε ιντερσεχτιον. Τηεν ει =
66:24�0:256�εϕ

3
ανδ ει <

66:24
3:256

, ασ οτηερωισε

εϕ = ει �
66:24
3:256

ωηιχη ωασ α χοντραδιχτιον. Ασ ει <
66:24
3:256

, εϕ =
66:24�0:256�ει

3
. Ψετ, τηε

τωο εθυαλιτιεσ χαν ονλψ ηολδ ιφ εϕ = ει =
66:24
3:256

. Σινχε 66:24
3:256

=2
�

0; 66:24
3:256

�

, τηερε χαννοτ

βε αν ιντερσεχτιον.

Τηυσ, τηε σετ οφ Ναση εθυιλιβρια ισ εθυαλ το τηε σετ οφ αλλ στρατεγψ χοµβινατιονσ

ωιτη εϕ = ει 2
�

66:24
3:256

; 80
�

.

Τ−ΙΜΠ

Ιν Τ−ΙΜΠ αγεντ 2 ρεχειϖεσ τηε σιγναλ σ = ε1. Ωε σολϖε φορ τηε συβγαµε περφεχτ Ναση

εθυιλιβριυµ γιϖεν σ = ε1. Αγεντ 2�σ ρεαχτιον το σ = ε1 ισ εθυιϖαλεντ το ηισ ρεαχτιον

φυνχτιον ιν Τ−ΝΟ ασ δεριϖεδ βεφορε. Αγεντ 1 αντιχιπατεσ αγεντ 2�σ ρεαχτιον το σ ανδ

µαξιµιζεσ ηισ οων εξπεχτεδ υτιλιτψ17

Υ1 (ε1; ε
�
2(ε1)) = ωΗ � π (ε1) � π (ε

�
2(ε1)) + ωΜ � [π (ε1) � (1� π (ε

�
2(ε1))) + (1� π (ε1)) �

π (ε�2(ε1))]�
ε2
1

80
� � �

�

ε�
2
(ε1)2

80
�

ε2
1

80

�

.

ωιτη ρεσπεχτ το ε1. Φορ ε1 2
�

66:24
3:256

; 80
�

, ε�2(ε1) = ε1 ανδ αγεντ 1�σ εξπεχτεδ υτιλιτψ

ισ µαξιµιζεδ ατ ε1 = 80.
18 Φορ ε1 2

�

0; 66:24
3:256

�

, ε�2(ε1) =
66:24�0:256�ε1

3
� ε1 ανδ αγεντ

1�σ εξπεχτεδ υτιλιτψ ισ µαξιµιζεδ ατ ε1 =
66:24
3:256

.19 Ασ ε1 =
66:24
3:256

ισ αγεντ 1�σ βεστ

χηοιχε ουτ οφ τηε ρανγε ε1 2
�

0; 66:24
3:256

�

, ανδ ε1 = 80 ισ αγεντ 1�σ βεστ χηοιχε ουτ οφ τηε

ρανγε ε1 2
�

66:24
3:256

; 80
�

, ωηιχη ινχλυδεσ ε1 =
66:24
3:256

, αγεντ 1�σ βεστ χηοιχε φορ τηε ωηολε

ρανγε οφ ε1 2 [0; 80] ισ ε1 = 80. Χονσεθυεντλψ, ιν τηε υνιθυε συβγαµε περφεχτ Ναση

εθυιλιβριυµ ε1 = σ = 80 ανδ ε2 = 80 αχχορδινγ το αγεντ 2�σ ρεαχτιον ε
�
2(ε1) = ε1 φορ

ε1 �
66:24
3:256

.

Τ−Π

Ιν Τ−Π ωε σολϖε φορ Ναση εθυιλιβρια γιϖεν σ = β1. Ιν α �ρστ στεπ, ωε δεριϖε αγεντ 2�σ

ρεαχτιον το ανψ χοµβινατιον οφ ε1 ανδ β1. Χονσιδερ β1 = 1. Ωηατ ισ αγεντ 2�σ βεστ

ρεσπονσε ιν τηισ χασε?

17Ηερε ωε υσε τηε φαχτ τηατ αγεντ 1 ειτηερ φαχεσ νο παψο⁄ ινεθυαλιτψ βεχαυσε αγεντ 2 περφεχτλψ

µατχηεσ ηισ ε⁄ορτ
�

φορ ε1 �
66:24

3:256

�

ορ αδϖανταγεουσ ινεθυαλιτψ βεχαυσε αγεντ 2 χηοοσεσ µορε ε⁄ορτ
�

φορ ε1 <
66:24

3:256

�

.
18Τηισ φυνχτιον�σ µαξιµυµ ισ ατταινεδ ατ ε1 > 80. Ασ τηε φυνχτιον ισ χονχαϖε, ιτ ινχρεασεσ ιν ε1

φορ τηε ωηολε ρανγε οφ ε1 2
�

66:24

3:256
; 80
�

. Ηενχε, ε1 = 80 ισ τηε µαξιµυµ φορ ε1 2
�

66:24

3:256
; 80
�

.
19Ουτ οφ τηε ρανγε ε1 2

�

0; 66:24
3:256

�

, ε1 =
66:24

3:256
ψιελδσ τηε ηιγηεστ µατεριαλ παψο⁄ φορ αγεντ 1 ανδ

αϖοιδσ παψο⁄ ινεθυαλιτιεσ σινχε ε�
2
(ε1) =

66:24�0:256�ε1
3

= ε1 φορ ε1 =
66:24

3:256
.
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Γιϖεν αγεντ 1 χηοοσεσ ε1 = 43:20, ωηιχη ισ αγεντ 2�σ εθυιλιβριυµ ε⁄ορτ ιν τηε

σελφ−ιντερεστ µοδελ ασ δεριϖεδ ιν Σεχτιον 3, αγεντ 2 χηοοσεσ ε2 = 43:20 ασ α βεστ

ρεσπονσε. Τηισ µαξιµιζεσ αγεντ 2�σ εξπεχτεδ παψο⁄, ωηιχη ισ σηοων ιν τηε δεριϖατιον

οφ τηε πρεδιχτιονσ οφ τηε σελφ−ιντερεστ µοδελ, ανδ µινιµιζεσ τηε ινεθυιτψ οφ παψο⁄σ

ασ ε2 = ε1.

Γιϖεν αγεντ 1 χηοοσεσ ε1 > 43:20, ε2 = 43:20 µαξιµιζεσ αγεντ 2�σ εξπεχτεδ

παψο⁄ (ασ τηε παψο⁄ µαξιµιζινγ ε⁄ορτ ισ ινδεπενδεντ οφ ε1). Τηισ χηοιχε, ηοωεϖερ,

γενερατεσ αδϖανταγεουσ ινεθυιτψ. Τηερεφορε, αγεντ 2�σ υτιλιτψ µαξιµιζινγ ρεσπονσε

ισ λαργερ τηαν 43.20 (βυτ σµαλλερ τηαν ε1). Ιτ εθυαλσ µιν
ν

43:20
1��

; ε1

ο

, ωηιχη ισ δεριϖεδ

βψ µαξιµιζινγ αγεντ 2�σ υτιλιτψ φορ τηε χασε οφ αδϖανταγεουσ ινεθυιτψ ωιτη ρεσπεχτ

το ε2. Φορ � = 0:6 ανδ ε1 � 80 τηε µινιµυµ εθυαλσ ε1.

Γιϖεν αγεντ 1 χηοοσεσ ε1 < 43:20, ε2 = 43:20 αγαιν µαξιµιζεσ αγεντ 2�σ εξπεχτεδ

παψο⁄. Τηισ τιµε, ηοωεϖερ, ιτ γενερατεσ δισαδϖανταγεουσ ινεθυιτψ. Τηερεφορε, αγεντ

2�σ οπτιµαλ ρεσπονσε ισ σµαλλερ (βυτ λαργερ τηαν ε1). Ιτ εθυαλσ µαξ
�

43:20
1+�

; ε1
	

, ωηιχη

ισ δεριϖεδ αναλογουσλψ το αβοϖε. Φορ � = 2, τηε µαξιµυµ εθυαλσ ε1 ιφ ανδ ονλψ ιφ

ε1 � 14:4.

Ωε συµµαριζε αγεντ 2�σ ρεαχτιον φορ β1 = 1, � = 2, � = 0:6 ανδ ε1 2 [0; 80] ασ

φολλοωσ

ε�2(ε1ϕβ1 = 1) =

(

ε1 ιφ ε1 � 14:4

14:4 ιφ ε1 < 14:4
.

Εθυιϖαλεντλψ, ωε χαν δεριϖε αγεντ 2�σ ρεαχτιον φορ β1 = 0, � = 2, � = 0:6 ανδ

ε1 2 [0; 80] τηατ ισ τηε φολλοωινγ

ε�2(ε1ϕβ1 = 0) =

(

ε1 ιφ ε1 �
68:80
3

68:80
3

ιφ ε1 <
68:80
3

.

Νοτε τηατ φορ ε1 �
68:80
3
αγεντ 2�σ ρεαχτιον ισ ε2 = ε1 ινδεπενδεντ οφ β1.

Ιν α νεξτ στεπ, ωε σολϖε φορ τηε ιντερσεχτιονσ οφ βοτη αγεντσ� ρεαχτιον φυνχτιονσ,

ι.ε. ωε σεαρχη φορ στρατεγψ χοµβινατιονσ (ε1; (ε2(β1 = 1); ε2(β1 = 0))) ιν ωηιχη ε1

ισ α βεστ ρεσπονσε το (ε2(β1 = 1); ε2(β1 = 0)) ανδ (ε2(β1 = 1); ε2(β1 = 0)) ισ α βεστ

ρεσπονσε το ε1.

Γιϖεν ε1 =
165:6
3:14

, τηε εθυιλιβριυµ ε⁄ορτ οφ Τ−ΝΟ ιν τηε σελφ−ιντερεστ µοδελ, αγεντ

2�σ βεστ ρεσπονσε ισ
�

165:6
3:14

; 165:6
3:14

�

σινχε ε1 �
68:80
3
. Γιϖεν αγεντ 2 χηοοσεσ 165:6

3:14
ινδε−

πενδεντ οφ β1, αγεντ 1�σ βεστ ρεσπονσε ισ το χηοοσε ε1 =
165:6
3:14

. Τηισ µαξιµιζεσ αγεντ

1�σ εξπεχτεδ παψο⁄, ωηιχη ισ σηοων ιν τηε δεριϖατιον οφ τηε πρεδιχτιονσ οφ τηε σελφ−

ιντερεστ µοδελ, ανδ µινιµιζεσ τηε ινεθυιτψ οφ παψο⁄σ ασ ε1 = ε2(β1 = 1) = ε2(β1 = 0).

Ηενχε, τηισ στρατεγψ χοµβινατιον ισ α Ναση εθυιλιβριυµ.
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Γιϖεν ε1 = ξ 2
�

165:6
3:14

; 80
�

, αγεντ 2�σ βεστ ρεσπονσε ισ (ξ; ξ) ασ ε1 �
68:80
3
. Γιϖεν

αγεντ 2 χηοοσεσ ξ 2
�

165:6
3:14

; 80
�

ινδεπενδεντ οφ β1, αγεντ 1�σ βεστ ρεσπονσε ισ το χηοοσε

ξ ασ ιτ ισ σηοων βψ τηε ρεαχτιον φυνχτιον δεριϖεδ ιν Τ−ΝΟ φορ τηε µοδελ οφ ινεθυιτψ

αϖερσιον. Τηυσ, αλλ στρατεγψ χοµβινατιονσ ωιτη ε1 = ε2(β1 = 1) = ε2(β1 = 0) 2
�

165:6
3:14

; 80
�

αρε Ναση εθυιλιβρια.

Γιϖεν ε1 = ξ 2
�

68:80
3
; 165:6
3:14

�

, αγεντ 2�σ βεστ ρεσπονσε ισ (ξ; ξ). Γιϖεν αγεντ 2

χηοοσεσ ξ 2
�

68:80
3
; 165:6
3:14

�

ινδεπενδεντ οφ β1, αγεντ 1�σ βεστ ρεσπονσε ισ το χηοοσε ξ,

ασ ιτ ισ σηοων βψ τηε ρεαχτιον φυνχτιον δεριϖεδ ιν Τ−ΝΟ φορ τηε µοδελ οφ ινεθυιτψ

αϖερσιον. Χονσεθυεντλψ, αλλ στρατεγψ χοµβινατιονσ ωιτη ε1 = ε2(β1 = 1) = ε2(β1 =

0) 2
�

68:80
3
; 165:6
3:14

�

αρε Ναση εθυιλιβρια.

Γιϖεν ε1 = ξ 2
�

14:4; 68:80
3

�

, αγεντ 2�σ βεστ ρεσπονσε ισ
�

ξ; 68:80
3

�

. Γιϖεν αγεντ 2

χηοοσεσ ξ ιφ β1 = 1 ανδ
68:80
3
ιφ β1 = 0, αγεντ 1�σ βεστ ρεσπονσε ισ νοτ ξ. Ιτ χαν βε σηοων

τηατ ε1 =
68:80
3
, φορ ινστανχε, ψιελδσ α στριχτλψ ηιγηερ εξπεχτεδ υτιλιτψ τηαν ε1 = ξ

2
�

14:4; 68:80
3

�

. Χονσεθυεντλψ, τηερε ισ νο Ναση εθυιλιβριυµ ωιτη ε1 2
�

14:4; 68:80
3

�

.

Γιϖεν ε1 = ξ 2 [0; 14:4), αγεντ 2�σ βεστ ρεσπονσε ισ
�

14:4; 68:80
3

�

. Γιϖεν αγεντ 2

χηοοσεσ 14.4 ιφ β1 = 1 ανδ
68:80
3
ιφ β1 = 0, αγεντ 1�σ βεστ ρεσπονσε ισ νοτ ξ. Χηοοσινγ

ε1 = 14:4, φορ ινστανχε, ψιελδσ α στριχτλψ ηιγηερ εξπεχτεδ παψο⁄ ανδ χαυσεσ λεσσ

παψο⁄ ινεθυαλιτιεσ τηαν ε1 = ξ 2 [0; 14:4). Ηενχε, τηερε ισ νο Ναση εθυιλιβριυµ ωιτη

ε1 2 [0; 14:4).

Τηυσ, τηε σετ οφ Ναση εθυιλιβρια ισ εθυαλ το τηε σετ οφ αλλ στρατεγψ χοµβινατιονσ

ωιτη ε1 = ε2(β1 = 1) = ε2(β1 = 0) 2
�

68:80
3
; 80
�

.

Τ−ΠΠλυσ

Ιν Τ−ΠΠλυσ αγεντ 2 οβσερϖεσ αγεντ 1�σ ε⁄ορτ ιν αδδιτιον το ηισ χοντριβυτιον. Ωε σολϖε

φορ τηε συβγαµε περφεχτ Ναση εθυιλιβριυµ γιϖεν σ = (ε1; β1). Αγεντ 2�σ ρεαχτιον το

σ = (ε1; β1) ισ εθυιϖαλεντ το ηισ βεστ ρεσπονσε ιν Τ−Π ασ δεριϖεδ βεφορε. Αγεντ 1

αντιχιπατεσ αγεντ 2�σ ρεαχτιον το σ ανδ µαξιµιζεσ ηισ οων εξπεχτεδ υτιλιτψ20

Υ1 (ε1; ε
�
2(ε1ϕβ1 = 1); ε

�
2(ε1ϕβ1 = 0)) = ωΗ � π (ε1) � π (ε

�
2(ε1ϕβ1 = 1)) + ωΜ �

(π (ε1) � (1� π (ε
�
2(ε1ϕβ1 = 1))) + (1� π (ε1)) � π (ε

�
2(ε1ϕβ1 = 0)))�

ε2
1

80
� � � π (ε1) �

�

ε�
2
(ε1ϕβ1=1)2

80
�

ε2
1

80

�

� � � (1� π (ε1)) �
�

ε�
2
(ε1ϕβ1=0)2

80
�

ε2
1

80

�

.

ωιτη ρεσπεχτ το ε1. Ιτ χαν βε σηοων τηατ ε1 = 14:4 ισ αγεντ 1�σ βεστ χηοιχε ουτ οφ τηε

ρανγε ε1 2 [0; 14:4], ε1 =
68:8
3
ουτ οφ τηε ρανγε ε1 2

�

14:4; 68:8
3

�

, ανδ ε1 = 80 ουτ οφ

τηε ρανγε ε1 2
�

68:8
3
; 80
�

. Ηενχε, αγεντ 1�σ εξπεχτεδ υτιλιτψ ισ µαξιµιζεδ ατ ε1 = 80.

20Νοτε τηατ αγεντ 2�σ ρεαχτιον ιµπλιεσ τηατ αγεντ 2�σ ε⁄ορτ ισ ατ λεαστ ασ ηιγη ασ ε1. Τηυσ, αγεντ

1 φαχεσ ειτηερ νο ορ αδϖανταγεουσ παψο⁄ ινεθυαλιτψ.
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Τηερεφορε, ιν τηε υνιθυε συβγαµε περφεχτ Ναση εθυιλιβριυµ ε1 = 80 ανδ ε2 = 80,

αχχορδινγ το αγεντ 2�σ ρεαχτιον ε�2(ε1ϕβ1 = 1) = ε
�
2(ε1ϕβ1 = 0) = ε1 φορ ε1 �

68:80
3
.

Τηε χασε οφ χοµπλεµεντσ

Τ−ΝΟΞ

Ιφ τηερε ισ νο σιγναλ ατ αλλ, ωε σολϖε φορ τηε Ναση εθυιλιβριυµ οφ τηε σιµυλτανεουσ

µοϖε γαµε. Ιν α �ρστ στεπ, ωε δεριϖε αγεντ ι�σ ρεαχτιον φυνχτιον το ανψ ποσσιβλε

στρατεγψ οφ αγεντ ϕ 6= ι, ωιτη ι; ϕ 2 φ1; 2γ. Ωε προχεεδ αναλογουσλψ το Τ−ΝΟ βυτ

σταρτ ωιτη τηε υνιθυε Ναση εθυιλιβριυµ πρεδιχτιον οφ τηε σελφ−ιντερεστ µοδελ τηατ ισ

εϕ =
116
1:9
� 61:05.

Φορ � = 2, � = 0:6 ανδ εϕ 2 [0; 80] αγεντ ι�σ ρεαχτιον φυνχτιον ισ

ε�ι (εϕ) =

(

εϕ ιφ εϕ �
46:40
2:760

46:40+0:240�εϕ
3

ιφ εϕ <
46:40
2:760

.

Ιν α νεξτ στεπ, ωε σολϖε φορ τηε ιντερσεχτιονσ οφ βοτη αγεντσ� ρεαχτιον φυνχτιονσ.

Ιτ χαν βε σηοων τηατ τηε σετ οφ Ναση εθυιλιβρια ισ εθυαλ το τηε σετ οφ αλλ στρατεγψ

χοµβινατιονσ ωιτη εϕ = ει 2
�

46:40
2:760

; 80
�

.

Τ−ΙΜΠΞ

Ιν Τ−ΙΜΠΞ ωε σολϖε φορ τηε συβγαµε περφεχτ Ναση εθυιλιβριυµ γιϖεν σ = ε1 υσινγ

αγεντ 2�σ ρεαχτιον φυνχτιον οφ Τ−ΝΟΞ . Αγεντ 1 αντιχιπατεσ αγεντ 2�σ ρεαχτιον το σ

ανδ µαξιµιζεσ ηισ οων εξπεχτεδ υτιλιτψ ωιτη ρεσπεχτ το ε1. Αναλογουσλψ το Τ−ΙΜΠ, ιτ

χαν βε σηοων τηατ αγεντ 1�σ εξπεχτεδ υτιλιτψ ισ µαξιµιζεδ ατ ε1 = 80. Χονσεθυεντλψ,

ιν τηε υνιθυε συβγαµε περφεχτ Ναση εθυιλιβριυµ ε1 = σ = 80 ανδ ε2 = 80, αχχορδινγ

το αγεντ 2�σ ρεαχτιον ε�2(ε1) = ε1 φορ ε1 �
46:40
2:760

.

Τ−ΠΞ

Ιν Τ−ΠΞ ωε σολϖε φορ τηε Ναση εθυιλιβριυµ γιϖεν σ = β1. Το δεριϖε αγεντ 2�σ

βεστ ρεσπονσε το ε1 ιφ β1 = 1, ωε προχεεδ αναλογουσλψ το Τ−Π ανδ σταρτ ωιτη αγεντ

2�σ εθυιλιβριυµ ε⁄ορτ οφ τηε σελφ−ιντερεστ µοδελ ε1 = 68. Αγεντ 2�σ ρεαχτιον φορ

β1 = 1, � = 2, � = 0:6 ανδ ε1 2 [0; 80] ισ ασ φολλοωσ

ε�2(ε1ϕβ1 = 1) =

(

ε1 ιφ ε1 �
68
3

68
3
ιφ ε1 <

68
3

.

Εθυιϖαλεντλψ, ωε χαν δεριϖε αγεντ 2�σ βεστ ρεσπονσε φορ β1 = 0 τηατ ισ τηε φολλοωινγ

ε�2(ε1ϕβ1 = 0) =

(

ε1 ιφ ε1 �
44
3

44
3
ιφ ε1 <

44
3

.
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Βψ σολϖινγ φορ τηε ιντερσεχτιονσ οφ βοτη αγεντσ� ρεαχτιον φυνχτιονσ ωε δεριϖε αλλ

Ναση εθυιλιβρια οφ Τ−ΠΞ . Προχεεδινγ ιν αν εθυιϖαλεντ ωαψ το Τ−Π ανδ σταρτινγ ωιτη

ε1 =
116
1:9
, τηε εθυιλιβριυµ ε⁄ορτ ιν Τ−ΝΟΞ ιν τηε σελφ−ιντερεστ µοδελ, ωε χαν σηοω

τηατ τηε σετ οφ Ναση εθυιλιβρια ισ εθυαλ το τηε σετ οφ αλλ στρατεγψ χοµβινατιονσ ωιτη

ε1 = ε2(β1 = 1) = ε2(β1 = 0) 2
�

68
3
; 80
�

.

Τ−ΠΠλυσΞ

Ιν Τ−ΠΠλυσΞ ωε σολϖε φορ τηε συβγαµε περφεχτ Ναση εθυιλιβριυµ γιϖεν σ = (ε1; β1).

Αγεντ 2�σ ρεαχτιον το σ = (ε1; β1) ισ εθυιϖαλεντ το ηισ βεστ ρεσπονσε ιν Τ−Π
Ξ . Αγεντ

1 αντιχιπατεσ αγεντ 2�σ ρεαχτιον το σ ανδ µαξιµιζεσ ηισ οων εξπεχτεδ υτιλιτψ ωιτη

ρεσπεχτ το ε1. Ιτ χαν βε σηοων τηατ αγεντ 1�σ εξπεχτεδ υτιλιτψ ισ µαξιµιζεδ ατ

ε1 = 80. Χονσεθυεντλψ, ιν τηε υνιθυε συβγαµε περφεχτ Ναση εθυιλιβριυµ ε1 = 80

ανδ ε2 = 80, αχχορδινγ το αγεντ 2�σ ρεαχτιον ε
�
2(ε1ϕβ1 = 1) = ε

�
2(ε1ϕβ1 = 0) = ε1 φορ

ε1 �
68
3
.
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